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PEIIEH3MSI

Ha KOMIUIEKT OLIEHOYHBIX cpeacTB 1o yueOHoN mucnmmmae OI'C3.03. MnocTpanHblii
S3BIK (AHTIMHCKHI)

Haripagnierue moiroTOBKY (CIeNManbHOCTh) yueOHas JUCHUIIIAHA, TEXHHUECKUH npoduis,
KoMrutekT ol1eHOYHBIX CpelIcTB pa3paboTtan mperogasarteneM SAcaukoit E.C.

KOC yuebnoit qucuurnunsl «HOCTpaHHbIH S3bIKY (aHTIIAACKUH) pa3paboTad Ha OCHOBE
paboueit mporpammel  yuebHOl mucnunmHel crnermanbHocTH  23.02.03  Texmuueckoe
obcnyXMBaHHE M PEMOHT aBTOMOOHMIBHOIO TPAHCIOPTA B COOTBETCTBHM C TpPeOOBaHUSIMHU
DenepanbHOTO rocyaapcTBEHHOTO obpaszoBaTensHoro cranaapta CIIO.

IIpeqHasHaveH i MOATOTOBKM OLIEHOUHBIX MaTepUalioB, oOecrednBarOIuX IIPOBEICHHE
py6ekHOro KOHTPOJIS B hopMe KOHTPOJBHEIX PabOT M MPOMEXKYTOUYHOM aTTecTalyu B (opme
3auéra u nuddepeHIMPOBaHHOrO 3a49€Ta M0 y4eOHOM TUCITUTLIHHE.

KOC coctouT U3 CAeAyomux pa3aeios:

- pasmen «[lacmopT KoMIlIeKTa OLEHOYHBIX CPEACTB», XapaKTepH3YIOUMH o01acTb
NpUMEHEHHs] ¥ HOpMaTHBHEIE ocHOBaHWS paspaborkum KOC; cBomuble cBeneHHs 00 00BeKTax
OLIEHMBAHUS, II0KA3aTEISIX U KPUTEPHSIX OL[eHUBAHUSI, TUIIaX 3a/jaHuii; (OpMax aTTeCTaluu;

- pazmen «KoMmmnmekr OIEHOYHBIX CpeacTB», CTPYKTypa KOTOPOrO IO3BOJSET
paspabarbiBaTh U KOMIIJIEKTOBaTh pasHbIE THIBI 3alaHuil Uil oOydatommuxcs. [laHHbli paszen
BKIIIowaeT B cebs paspaboTaHHBIE KOMIUIEKCHBIE 3aJaHusl (B TOM 4HCIE TECTOBBIE) IS
IIPOBEIEHHUS TEKYIIEro KOHTPOISA B popMe KOHTPONBHOM paboThl ¥ IPOMEKYTOUHOM aTTECTAllUU
B (popme 3auera U gudGepeHIHPOBAHHOTO 3a4eTa.

- paszgen «YCIOBHS BBIIOJHEHMS 3aJaHMI BKIIOYAET B ceOs MECTO BEHIIOIHEHHUS, BpEMs
BBIIIOJIHEHHS, OCHOBHBIE W JIOTIONHUTENbHBIE HCTOUHHUKHM Y4eOHOM JMTEpaTyphl, KPUTEPHH
OLIEHMBAHUS 3HAHUHN U yMeHHH 0Oyuaromuxcs.

Crpyktypa Marepuana OTIHYAETCs JOTHYHOCTBIO, MOCTEIIEHHBIM YBEJIMYEHHEM CTEICHH
TPYAHOCTH, pazHOOOpaszuem 3aJaHui, a Tak ke GopM U cmocobOB KOHTPOIISL.

bonpiroe BHHMaHHWE Y[EIEHO KOHTPOJIO HABBIKOB YTEHHS M I[EPEBOJA TEKCTOB
npodeccnoHaNbHON HANpPaBIEHHOCTH C JJIEMEHTAMH aHalli3a, YTO OCOOEHHO aKTyalbHO MIJis
Oynyimei npodeccuu CTyIeHTOB.

bonbImuM MOCTOMHCTBOM KOMIUIEKTa SBJSETCS MHOTOYPOBHEBOCTh, YTO IIO3BOJISET
UCIIONB30BaTh MaTepHall B IPYyIIax pasHOro ypoBHS MOATOTOBKH. [IpH 3TOM IpociexuBaeTcs
qYeTKas IPEEMCTBEHHOCTh YpPOBHe#H ¢ Touku 3penus (opmupyembix komnereHuud. KOC
YUUTBIBAET WHAMBHUIYaJIbHBIE OCOOEHHOCTH CTYAEHTOB M COHIEPKUT B cebe pa3BHBAIOLIHH

KOMIIOHEHT.



KOC yuebro#t mucnmmmansl «MHocTpanubiit s3bIK  (aHrimifckuil)y obecreunBaet
IPOBENECHHE TEKYIIEro, PyOeKHOTO U IPOMEKYTOYHOIO KOHTPOJS 3HAHMH CTYIEHTOB,
COOTBETCTBYET pabodelt mporpaMme y4eOHON AUCIMILUIMELI A7 CIEHHUATBFHOCTEH TEXHHYECKOTO
npoduisi W MOXeT OBITh HCIONB30BaH B o6pasoBaTensHOM —mpomecce B I'BIIOY KK

«HoBopoccuiickuii KomnemK pagrnoseKTPOHHOTO TPHOGOPOCTPOCHHS.

PenenzenT: o A \L E.H. Txamunaa

A 45 5 IIpenonaBatess BbICIIEH KBATHOUKATTHOHHOMN
KaTeropum
I'BITOY KK HKPII

JIMHTBHCT, IPENIOaBaTE b HHOCTPAHHOTO SI3bIKA

«29» aBrycra 2020 r.



PEIIEH3UA

Ha KOMILIEKT OIEHOYHBIX cpencTB yueOHoW mucuumiuael OI'C3.03. MHOCTpaHHbIH
A3BIK (aHTIUACKHIT), pazpaboranusii npenonasareiem ['BIIOY KK HKPII Acaunxoii E.C.
KOC nns npoBeieHus TEKyLIero, pyoexHoro KOHTPOIIst, IPOMEXYTOYHON aTTeCTAllUH 110

yuaebuoit mucimmunae OI'C3.03. «MHocTpaHHEIH I3b1K» (aHMIHMCKUi) pa3spaboTaH Ha OCHOBE
paboueit mporpamMmbl yueOHOR AUCHHUILIMEEI crienuansHocTh 23.02.03 Texnuyeckoe
o0cny)KHBaHUE U PEMOHT aBTOMOOMIBLHOTO TpaHcHopTa, [lonoskeHus mo opraHusaniu
TEKYILIEro KOHTPOJIS YCIeBaeMOCTH U IpoMexyTouHo# artectanuu odyvaromuxcs [ BIIOY KK
HKPII .ITonoxenus no popmuposanuto KOC no gucinuiiauHe ¥ B COOTBETCTBHUH C
tpeboBanusimMu OI"OC CIIO.

KOC coctouTt u3 cieayiomux pa3ieios: )

- pasgen «llacmopT KOMIUIEKTa OIIEHOYHBIX CPEICTB», XapakTepusyromui obracTh
NpUMEHEeHHS M HOpMaTHBHBEIe ocHoBaHHA paspabotkum KOC; cBomabie cBeleHus o0 oObekTax
OLICHMBAHHUS, TIOKA3aTeNIX W KPUTEPHSX OLICHUBAHMUS, THIIAX 3aaHui; opMax aTTecTalluHy;

- pazgen «KoMIIEeKT OIEHOYHBIX CpPENCTB», CTPYKTypa KOTOPOro II03BOJISIET
paspabaTeIBaTh U KOMIUIEKTOBATE pa3HbIe TUIIBI 3aAaHn# A1 00ydarouxcs;

- pasznen «YClIOBHS BBIOMHEHHS 3aMaHUily BIITIOUAET B ce0s1 MECTO BBITOJHEHHS, BPeMs
BBIIIOJIHEHHS, OCHOBHBIE W JOTIOTHHUTENbHBIE HCTOUYHHKM Y4eOHOH IHMTEpaTyphl, KPHTEPHH
OLICHMBAHMS 3HAHUH U YMEHHH 00yJarommxcs.

KOC npennassadeH i TIOATOTOBKH OIEHOYHBIX MATEpUANIOB, 00eCneYrBaromux
[IPOBE/IEHHE TEKYUIEro, pyOeKHOTro KOHTPOIS B MPOMEXKYTOUHOH arTecTanuu B hopme 3a4éra U
(muddepeHHPOBaHHOr0) 3auéTa 10 Y4eOHOH TUCLUTUTHHE.

3amanusi paszpaboTaHbl KOHKPETHO, IIOCHIEIOBATENBHO, METOAMYECKH IPaMOTHO U
[O3BOJISIOT IIPOBEPUTE 3HAHUS U YMEHUS 110 TAHHOHN AUCLUILIAHE.

Takum obpasom, KOC yuebuo#t mucumruael «MHOCTpaHHBIM S3bIK (AHIVIHHCKUN)Y
obecrieyrBaeT IPOBEIECHUE TEKYIIero, pybexHOro H TMPOMEKYTOYHOIO KOHTPOIS 3HAHHM
oby4aronuxcst ¥ MOXeT ObITh MCHONB30BaH B obpazoparensHom mnpormecce B I'BIIOY KK
«HoBopoccuiickuii Komnemx paguo31eKTpOHHOT0O IPHOOPOCTPOEHHUSY .

JI.T.Tlanuua, npernogaBaresib BhICIIECH
kBanupuxannonHoit kareropuu I'BIIOY KK HCIIK,

PenensenT:

@unonor, npenoaBaTeNs ABYX HHOCTPAHHBIX A3BIKOB
WISy el 2020 .




1. IacmopT KOMILJIEKTA OLIEHOYHBIX CPEACTB

1.1. Ob6aacrtsb NMPUMEHECHNA KOMIVICKTA OLICHOYHLIX CPEACTB

Kommnexktr onenounsix cpeacts (KOC) mnpennasHaueH uisi  OLIGHKHU

pe3yabTatoB ocBoeHUs yueOHOW muctuminHbl OI'CD.03 HMHocCTpaHHBIN S3bIK

(arrmmiickuii). KOC BKIIOYaeT OICHOYHBIC MaTSPUAIbI JAJIs IPOBEICHHUS TEKYIIETO

KOHTPOJISL ¥ TPOMEKYTOUHOM aTTecTauu B hopme 3auéra/nuddepeHnpoBaHHOTO

3a4éra.

PesyabTaTnl OcHoBHBIE Tun 3aganus; | Dopma arrecTraumu
O0CBOCHUS MoKa3aTeJu HOMep 3aJaHusl | (B COOTBETCTBHMH C
(06BeKTBI OLIeHKH Y4€eOHBbIM IJIAHOM)

pe3yJbTara u ux

OLICHMBAHUA)

KpUTEpUH

V.1.00matecs -ynoTpeOaeHue [Ipaktnueckue | Texymmii, pyOeKHbII
(ycrHO 1 Pa3rOBOPHBIX 3aJjaHuUsl. KOHTPOJIb.
MUCHbMEHHO) Ha bopmy (Kue) B 3ayer.
MHOCTPAHHOM S3bIKE JuddepentupoBanH

KOMMYHHMKATUBHBIX | KOHTpoiIbHAsS - -
Ha 5 bI 3a4€T.

UTYalMsIX; abora.

npodeccrnonansupie | SNy AUHAX paoo

- COCTaBJICHUE

H ITIOBCCIHCBHBIC
TCMBI.

CBSI3BHOTO TEKCTa C
UCTIOJIb30BaHUEM
KITIOYEBBIX
JIEKCUYECKUX
eIMHUIl Ha
MOBCE/IHEBHBIE U
podheCCHOHAIbHBI
€ TeMBI;

- COCTaBJICHUE
YCTHOTO
COOOILIeHUs Ha
3aJJaHHYIO TEMY B
COOTBETCTBHH C
paboueit
porpamMmoit (¢
IIpeABapUTEIBbHON
MOATOTOBKOM);

- IPE/ICTaBIICHUE
KpPaTKOTO WU




oAPOOHOTO
nepeckasa
IIPOCITYIIIAHHOTO
WM TIPOYMTAHHOTO
TEKCTA;

- OJI/Iep KaHue
Oecenpl C
HCIIOJIb30BaHUEM
AJIEMEHTOB
OTHCaHMS,
MOBECTBOBAHUS U
paccyxJieHus 1o
TEMAaTHUKE B
COOTBETCTBHH C
paboueit
MPOrpaMMON

V.2.IlepeBoauTs (co
CJIOBApEM)
WHOCTpaHHbIE
TEKCTBI
npodeccCuoHaIbHON
HaIpaBJICHHOCTU

- BBIOOD CJI0Ba B
WHOCTpPAHHO-
PYCCKOM CJIOBape ¢
y4eToM
podecCUOHANEHO
1 HAaIPaBJICHHOCTH;
- pacro3HaBaHUE
dhopmMaTbHBIX
MIPU3HAKOB
JICKCUYECKUX 1
rpaMMaTHYECKHX
SIBJICHUU

- IEPEBOJI TEKCTA C
y4eTOM KOHTEKCTa
U SI3BIKOBOM 1
JOTAIKH

- BOCITPOU3BEICHUE
COJIep KaHUs
MEPEBOIUMOTO
TEKCTa B
COOTBETCTBUH C
HOPMaMH PYCCKOTO
JUTEPATYPHOTO
S3BIKA, C
HCIIOJIb30BaHUEM
OCHOBHBIX BHJIOB

[IpakTnueckue
3a1aHUS.
ITepeBon
TEKCTOB
npodeccroHanb
HOU HampasJICH
HOCTH

KonTtponrpHas
pabota

Texymmii, pyOeKHbII
KOHTPOJIb.

3auér.
HuddepenurpoBann
BIM 3a4€T.




YTCHU B
3aBUCHUMOCTHU OT

KOMMYHUKATUBHOMN

3a/1a4n
V.3.Camoctosrensh | - CamocrositenbHoe | [Ipaktuueckue | Texymuid, pyOeskHbIN
0) OBJIaJICHUE 3aJaHuA KOHTPOJIb.
COBEPIICHCTBOBATD | 1 1yKTHBHBIMH 3auér.
YCTHYIO H HEKCHKO- I[I:ICI)(bePeHHI/IPOBaHH
MMICbMEHHYIO PEUb, BIM 3a4€T.
OLOIHSITE rpaMMaTHYECKUMHU
CIIOBAapHBII 3arac. HaBbIKaMH,

Pa3roBOPHBIMU

dbopmyiamMu u
KITUIIIE,
OTpaKarOIUMHU
cnenupuKy
OOIIEHUS C y4ETOM
podecCUOHANBEHO
W HampaBJIEHHOCTU
1 He0OX0IUMOM
11 oOMeHa
uH(popmaimen no
3a1aHHOMN
TEMAaTHKE;

- OMUCaHUe U
MPE/ICTaBIICHUE
KpaTKOro IJiaHa
TEKCTa,
YCTaHOBJICHHE
CBSI3U MEX]TY €TO
JacTsIMH,
dbopmyaupoBaHue
BOITPOCOB K
COJIEPYKAHHIO
MIPOYUTAHHOTO;

- oTOO0p
uH(popManuu U3
TEKCTa Mpu
COCTaBJICHUH
3aIMcel B BUE
OIIOp, COCTaBJICHUE




JIOKYMEHTAIUH 110
CTHEIIHAILHOCTH B
dbopme, IPUHSATOHN B

CTpaHe/CTpaHax

U3y4aeMoro s3bIKa.
3HaHmne - ocnipou3BeneHue | [Ipaktuueckue | Texkymuid, pyOexHbIHA
3.1.Jlexcrnuecknii HOBBIX 3aIaHus. KOHTPOJIb.
(1200 - 1400 JIEKCUYECKUX 3auér.

1020505 nppepeHrpoBaHH
JIEKCUYECKHUX JAUHULL, KoHTposbHast I[ucb(b PCHLIUD
€AVHMII) U CBA3aHHBIX C 5 BIM 3a4€T.

. o abora.

rpaMMaTUYECKUU TCMATUKON p
MHUHHAMYM, COIJIACHO paboyeil

HEOOXOIUMBIN ISt
YTCHUS U TIepeBOa
(co cioBapem)
UHOCTpPaHHBIX
TEKCTOB
npodecCuOHAIbLHON
HapPaBIEHHOCTH

MPOTPaMMBbI U C
COOTBETCTBYIOIIUM
U CUTYalUsIMU
OOIICHUS,

- CHCTEMAaTH3alus
U IPUMEHEHUE
HOBBIX 3HAYCHHI
U3YYEHHBIX
IJIaroJibHbIX opM
(BUIOBPEMEHHBIX,
HEJINYHBIX),
CPEIICTB U
CHI0c000B
BBIPKECHUS
MOJAJIBHOCTH,
YCIJIOBHS,
IIPEATIOIOKEHNU,
MPUYHHBI,
CJIEJICTBHS,
noOyXACHUS K
JICHCTBUIO;

- YCTAHOBJICHUE U
BBISIBJICHUE 00I1IETO
U cnenupuyeckKoro
B KYJIbTYPE POJHOM
CTpaHbl U CTPaHBI
U3Y4aeMoro S3bIKa;
- COCTaBJICHUE
TEKCTOB,
IIOCTPOEHHBIX Ha
A3BIKOBOM
Marepuaie
MOBCEIHEBHOTO U




npodeccuoHaIbHOT
0 OOILIEHHUsI, B TOM
YHCIIC MHCTPYKITUU
1 HOpMAaTHBHBIC
JIOKYMEHTBI 10
npodeccusim HITO
Y CIEIIMAJIBHOCTIM
CIIO

2 kypc 3 cemecTp

2.1. 3aganud ;I NPOBEACHUS PYOEKHOT0 KOHTPOJISA B hopMe KOHTPOJILHOM

padoThI (IPAKTHYECKHE):

2.2 O0OBEKTHI OLICHUBAHU

1. YMeHnue ucnonbp30BaTh 03HAKOMHUTEIIFHOE U HN3ydaronicc 4YTCHUC B
3aBUCUMOCTH OT IIOCTaBJIICHHOM 3aJa4u,

2. YMeHue 00pa3oBbIBaTh CJIOBA C TOMOIIBIO aQ(UKCOB,;

3. 3HaHUWe 3HAYCHUU S3BIKOBOTO MaTepuala, JIGKCHICCKUX €IMHHUII,
M3YUYEHHBIX 10 pazzenam «OCoOEHHOCTH TEXHUYECKOTO MEePEeBOIay,
«M3o0peraTeny U UX U300PETCHUSD;

4. 3HaHue crioco00B CI0BOOOpa30BaHUs, BUAOBPEMEHHBIX ()OPM IJIaroa,
MECTOUMEHUMN, MHOKECTBEHHOTO YHMCJIa CYIIECTBUTEIbHBIX.

TEST 1
1. MAKE THREE FORMS OF THE VERBS:

To show, to make, to train, to take, to speak, to deal, to come

2. FILL IN THE BLANKS AND TRANSLATE INTO RUSSIAN:

The invention of the railroads began with the invention of the steam engine, the
idea of which....... (applied, originated, listed) many years earlier. James Watt’s
improvement on the Newscomen'’s....(production, lever, engine) allowed the
team engine not only to go up and down, but to turn....(gearwheels, disk
brakes, pistons.)

3. JOIN THE PARTS OF THE SENTENCES




1. Hero of Alexandria lived.... A) the siphon, the gearwheel, the pump,

2.Hero’s invention was. .. b)the water clock , the steam engine

3. His inventions were.... C) about 150 B.C.

4. Hero described and listed. .. d) to entertain

5. He described...... e) how the heavy weight may be lifted and

moved with minimum effort
6. The main function of f) five basic principles of the machinery.
4. TRANSLATE FROM RUSSIAN INTO ENGLISH:

Marematuk, cudoH, 3yduaTroe KoJjieco, ToMIia, MapoBOi ABUTATEb, BOASHbIC
9aChl, OTIMCHIBATh, KPYTUTHCS, TIEPEKITIOUATENb

5. FORM NOUNS AND ADJECTIVES:

To modify, to switch, to create, to repair, to govern

TEST 2
1. MAKE THREE FORMS OF THE VERBS:

To work, to produce, to do, to use, to grow, to send, to set

2. FILL IN THE BLANKS AND TRANSLATE INTO RUSSIAN:

In 1871 Watt...(based, designed, listed) and produced a rotary-motion steam
engine. This new engine could be.....(applied, described, operated) to many
different types of ...(principles, machinery, laws). In 1804 Richard Trevithick,
an English engineer....(invented, called, influenced) a steam locomotive, and
his invention brought together the idea of iron rails and team engine.

3. JOIN THE PARTS OF THE SENTENCES

1. Hero of Alexandria lived.... A) the siphon, the gearwheel, the pump,
2.Hero’s invention was... b)the water clock , the steam engine
3. His inventions were.... C) about 150 B.C.

4. Hero described and listed... d) to entertain



5. He described...... e) how the heavy weight may be lifted and
moved with minimum effort

6. The main function of f) five basic principles of the machinery.

4 TRANSLATE FROM RUSSIAN INTO ENGLISH:

MaivHocTpoeH e, HHKEHEp, pbluar, Kojaeco, 0Cbh, OJIOK (POJIUK), BUHT, KJIUH,
n300peTeHne, KOJIJIEKTOP

5.FORM NOUNS AND ADJECTIVES:
To develop, to sell, to cost, to operate, to product
TEST 3

1. MAKE THREE FORMS OF THE VERBS:
To leave, to choose, to provide, to improve, to become, to bring.

2. FILL IN THE BLANKS AND TRANSLATE INTO RUSSIAN

In 1882 Edison installed the first durable electric....(lights, steam, gas) in his
own labs, and later  built the first public power station. However, Edison’s
DC ....(electrolysis, current, engine) system had only a three-mile range.

3. JOIN THE PARTS OF THE SENTENCES

1. Hero of Alexandria lived.... A) the siphon, the gearwheel, the pump,
2.Hero’s invention was... b)the water clock , the steam engine

3. His inventions were.... C) about 150 B.C.

4. Hero described and listed... d) to entertain

5. He described...... e) how the heavy weight may be lifted and

moved with minimum effort

6. The main function of f) five basic principles of the machinery.

4 TRANSLATE FROM RUSSIAN INTO ENGLISH

[Tpubop, peMOHTHPOBATH, MAHOMETP, DJIEKTPOABUTATEIb, 3aPSTUTH OaTapero,
AJI.TOK, TPUOOPHI.



5.FORM NOUNS AND ADJECTIVES

To discover, to improve, to combine, to invent.
TEST 4

1. MAKE THREE FORMS OF THE VERBS:

To discover, to make, to be, to take, to speak, to go, to come

2. FILL IN THE BLANKS AND TRANSLATE INTO RUSSIAN:
The invention of the railroads began with the invention of the steam engine, the

idea of which....... (applied, originated, listed) many years earlier. James Watt’s
improvement on the Newscomen'’s....(production, lever, engine) allowed the
team engine not only to go up and down, but to turn....(gearwheels, disk
brakes, pistons.)

3. JOIN THE PARTS OF THE SENTENCES

1. Hero of Alexandria lived.... A) the siphon, the gearwheel, the pump,
2.Hero’s invention was... b)the water clock , the steam engine

3. His inventions were.... C) about 150 B.C.

4. Hero described and listed... d) to entertain

5. He described...... e) how the heavy weight may be lifted and

moved with minimum effort

6. The main function of f) five basic principles of the machinery.

4. TRANSLATE FROM RUSSIAN INTO ENGLISH

Marematuk, 3y04aToe KoJIeco, ONUChIBATh, KPYTUTHCS, IEPEKIIIOYATEb,
MaHOMETP, MAIIMHOCTPOEHHE

5. FORM NOUNS AND ADJECTIVES

To establish, to switch, to train, to repair, to govern

2 kypc 4 cemecTp

2.3. 3axauus I NPOBeACHUs MPOMEKYTOUYHOM aTTecTanuu B hopme 3auera
(IpaKkTH4YeCKHe):




2.4 OOBEKTHI OLIEHUBAHU

1. YMeHue BBIIOJIHATH YCTHBIN MOJHBIN EPEBOJ TEKCTA TPO(PEeCCHOHATBHON
HaIIPaBJICHHOCTH.

2. YMeHHe MepeBOIUTh TEPMUHBI C PYCCKOTO SI3bIKa HA aHTTTMUCKHUHN U
Ha000pOT

3. 3nanue ahpukcoB U yMeHune 00pa3oBbIBaTh HOBBIC JIE

4. 3HaHue SA3BIKOBOTO MaTCpuajia U3Yy4YCHHOTO IIO Pa3acilty «OcobenHoCcTH
TCXHHUYCCKOI'O IICPCBOAA», <<H306pCTaTCJ'II/I H UX H306p€T€HI/IH»;

5. 3HaHue croco00B CI0BOOOpA30BaHMsI, BUJOBPEMEHHBIX (hOPM TIiarosna,
MECTOMMEHHUH, MHOKECTBEHHOTO YHCJIa CYIECTBUTEIBHBIX, TUIIOB
BOTIPOCOB, TACCUBHOTO 3aJI0TA.

TEST 1

1. Read the text and translate it without dictionary (orally)

Most people know that Thomas Edison invented the first working light bulb,
but they don’t know anything else about him. Edison had no formal schooling,
yet he invented over 1,000 different things. Among Edison’s inventions are: the
phonograph (record player), the movie camera and the movie projector. No one
knew how to use electricity outside of a laboratory before Thomas Edison. He
and his workers created a safe electric system, then built a factory and the
generators to make the electricity, next they sent out the electricity. Later
Edison founded the Edison Electric Light Company and continued to supply
electricity to New York and other places. Thomas Edison was a true genius. He
became one of America’s most famous and most honored man.

Translate from Russian into English. In some cases use the upper text.

N3o0perarh™, UCHOIB30BATH™, AJIEKTPUUECTBO, pabOUMii, CO3/1aBaTh, 3aBO/I,
reHeparop, Oe30macHbId, CHAa0XaTh, 3HAMEHUTBIA, MacCOBOE IPOU3BOJCTRBO,
MPEUMYIIECTBO, OTKPHITHE, IPOMBIIIICHHOCTb.

Using suffixes make other words from the marked ones.

2. Make three forms of the verbs:

To show, to make, to train, to take, to speak, to go, to come



3. Open the brackets using Passive voice (present simple)

[EEN

. The contract (to type) now.
. The article (to write) in English.
3. The car (to repair) already.

N

TEST 2

1. Translate from English into Russian (orally)

[EEN

. steam engine

2. petrol car

3. piston

4. to invent*

5. electric motor

6. laws of electrolysis

7. to recharge the battery

2. Match the parts of the sentences and translate them into Russian

(orally)
1) Hero inventions were... a) the electromagnetic motor, radio.
2) Karl Benz set up business, with b) inventing the automobile.
successive partners in a very small way
making...
3) Michael Faraday discovered* how to | c) two-stroke gas engines of his own
make... design* in 1880.
4) N. Tesla inventions were... d) the siphon, the gearwheel, the pump,
the water clock, the steam engine.
5) Most people credit Henry Ford with... | e) an electrical* motor.

Using suffixes make other words from the marked ones.
3. Make three forms of the verbs:
To work, to produce, to do, to use, to grow, to send, to set

4.0pen the brackets using Passive voice (present simple)




[EE

. A new school (to build) in that village lately.
. Bread (to eat) every day.
3. We (to show) the film now.

N

TEST 3

1. Translate from English into Russian (orally)

1. starting motor
. electric* current
. two-stroke gas engine

. to develop*
. shaft

o o0 AW

. battery
7. to furnish electric power

2. Match the parts of the sentences and translate them into Russian

(orally)
1) Henry Ford invention * was... a) five basic* principles of the
machinery.
2) Frederick Lanchester, the son of an b) the term horsepower (hp).
architect, made Britain's first...
3) Hero of Alexandria described and ¢) a four-wheel motorized carriage to
listed... his company's offerings.
4) James Watt coined... d) the assembly line.
5) In 1891 Benz added... e) four-wheeled petrol car.

Using suffixes make other words from the marked ones.

3. Make three forms of the verbs:

To leave, to choose, to provide, to improve, to become, to bring, to think.

4.0pen the brackets using Passive voice (present simple)

1. You (to ask) about it?
2. | hope the invitation (to accept) by everybody.
3. The new film (to demonstrate) in all the big cinemas of Moscow.




2 kypc 4 cemecTp

2.5 33I[aHI/Iﬂ JJIS1 TIPOBEIEHUS MMPOMEKYTOUYHOM aTTecTallui B (hopMe

mnddepeHIMPOBAHHOI0 3a4eTa (MPAKTHYECKHE):

2.6 OOBEKTHI OLICHUBAHUS

1. YMeHue unTaTh TEKCTHI MO CHECIMATU3UPOBAHHON TEMaTHKE.
2. Pacmmpenue akTUBHOTO cIIOBaps 3a CYET MpodhecCuoHaIbHO-
OpPUEHTUPOBAHHOM JIEKCUKHU.

6. 3nanue 3nauenuii JIE uzydennsix no paznenam «Kpanudukamonnas
XapaKTepUCTHUKA CHEIUATbHOCTY, «[IpOM3BOCTBO aBTOMOOUIIEH

3. 3Hanue HHTCPpHAIIUOHAJIBHBIX CJIOB, TCPMHUHOJIOTHUHU

4. 3HaHue criocoO0B MOCTPOEHUS PA3IMUYHBIX THUIIOB BOIIPOCOB, MPEMJIOTOB,
CJ'IOBOO6p2130BaHI/I$I, ITaCCUBHOI'O 3aJjiora, MOJaJIbHBIX I'JIaroJIOB
Variant |
1. Read and translate international words:

Specialist, automobile, industry, production, phase, technology, process,
test, mass, fact, service, comfortable, ecological, method.

OT BbIIEJIEHHBIX CJI0B 00pa3yiiTe Apyrue 4YacTu peyn, HCNoJab3yd Cy(PPUKCHI.
2. Ask the questions to these sentences:
1. | study at the automobile construction college.

2. After graduating from the college I’ll become a specialist in automobile
construction.

3. Choose and write down terms and term combinations connected to:
a) The engine;
b) The chassis;
c) The body.

Fuel system, axle shaft, accessories, cooling system, frame with axles,
running gear, lubricating system, steering system, heater, propeller



shaft, power transmission, final drive, windshield wiper, clutch, wheels
and axle shafts, gearbox, electric system, differential.

4. Insert the prepositions: of, from, for, of, by, for, to. Read and translate
the text.

The frame is a structural centre...... any car as it provides support......
the engine, body, wheels and power-train members.

Cross members reinforce the frame and provide support ...... the engine
and wheels. The frame is extremely rigid and strong. The engine is
attached ...... the frame in three or four points and insulated in these points
.....some rubber pads to prevent vibration and noise ........ passing to the
frame and thus to the passengers. There are two types........ frames:
conventional construction and unibody one.

5. Make sentences passive:
Oopasem: Helen washed the dishes. - The dishes were washed (by Helen).

They didn’t turn off the light.

Have you written the letter yet?
Somebody wants you on the telephone.
He has paid his taxes.

e

Variant |1
1. Read and translate international words:

Type, corrosion, material, optimal, problem, mechanism, control, system, start,
chassis, electric, differential, ventilator, cylinder.

OT BbIJIeJICHHBIX CJIOB 00pa3yiiTe Apyrue 4acTu peum, ucnoJb3ys cypdukcel.
2. Ask the questions to these sentences:

1. The production of the automobiles comprises the following phases: designing,
working out technological processes, laboratory and road tests and mass
manufacturing.

2. We are testing the engine.

3. Choose and write down terms and term combinations connected to:

a) The engine;



b) The chassis;
¢) The body.

Fuel system, axle shaft, accessories, cooling system, frame with axles,
running gear, lubricating system, steering system, heater, propeller
shaft, power transmission, final drive, windshield wiper, clutch, wheels
and axle shafts, gearbox, electric system, differential.

4. Insert the prepositions : in, of, into, in, through, on. Read and translate the
text.

Gearbox are assembled and disassembled ........ special stands using
special mechanisms. In case....... trouble in change-speed gearbox it can
be repaired only........ the workshop. But in order not to get .....trouble
you should do the following steps:

a) check the oil level ....... the gearbox casing;

b) wash the breather channel;

c) change the oil in accordance with the lubrication schedule;
d) wash the gearbox with a thin mineral oil;

e) drain the used oil ....... the drain hole.

5. Make sentences passive:
Oopaser: Helen washed the dishes. - The dishes were washed (by Helen).

1 People don’t use this road very often.

2 Somebody accused me of stealing money.
3. How do people learn languages?

4 People advised us not to go out alone.

Variant 111
1. Read and translate international words:

Automobile, production, phase, technology, process, service, comfortable,
ecological, method, corrosion, material, problem, mechanism, control,

OT BbIJI€JICHHBIX CJIOB 00pa3yiiTe Apyrue 4acTu peyn, UCnoyb3ys cypurcsol.
2. Ask the questions to these sentences:

1. The clutch connects the engine with the driving wheels.



2. The battery has run down.
3. Choose and write down terms and term combinations connected to:
a) The engine;
b) The chassis;
¢) The body.

Fuel system, axle shaft, accessories, cooling system, frame with axles,
running gear, lubricating system, steering system, heater, propeller
shaft, power transmission, final drive, windshield wiper, clutch, wheels
and axle shafts, gearbox, electric system, differential.

4. Insert the prepositions: of, to, of, of, from, of . Read and translate the text.

The automobile is made up...... three basic parts: the engine, the body
and the chassis. The engine is the source........ power and makes the car
move.

The chassis consists ....... the transmission and running gear (frame,
springs and wheels). The transmission carries the power......... the engine
....... the wheels. It consists .........the clutch, gearbox, propeller shaft, rear
axle, final drive and differential. The transmission also includes the steering
system and brakes.

5. Make sentences passive:
Oopaser: Helen washed the dishes. - The dishes were washed (by Helen).

1. Somebody accused me of stealing money.
2. We shall bring the books tomorrow.

3. Have you written the letter yet?

4. She invites me to her dinner parties.

Variant IV
1. Read and translate international words:

Industry, production, phase, test, mass, fact, service, ecological, system, start,
chassis, electric, ventilator, cylinder.

OT BbIIEJIEHHBIX CJI0B 00pa3yiiTe Apyrue 4YacTu peyn, HCnoab3ys cy(pPuKChI.

2. Ask questions to these sentences:



1. You helped me to find the fault.
2. The engine is the source of power.
3. Choose and write down terms and term combinations connected to:
a) The engine;
b) The chassis;
c) The body.

Fuel system, axle shaft, accessories, cooling system, frame with axles,
running gear, lubricating system, steering system, heater, propeller
shaft, power transmission, final drive, windshield wiper, clutch, wheels
and axle shafts, gearbox, electric system, differential.

4. Insert the prepositions: by, of, to, on, for. Read and translate the text.

To turn the car you must have some means....... turning the front
wheels. ..... this purpose the steering wheel and the steering column are
linked ...the front wheels. The front wheels are ...... pivots and can be

swung to the left or to the right.

When the driver turns the steering wheel and column the front wheels
(being on pivots) attached..... the steering knuckle arms to the tie-rods are
also turned.

5. Make sentences passive:
Oopaser: Helen washed the dishes. - The dishes were washed (by Helen).

. They didn’t turn off the light.

. Have you written the letter yet?

. Somebody wants you on the telephone.
. He had paid his taxes.

WO DN -
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2.7. 3agaHus 11 NPOBeIeHUS PYOEKHOT0 KOHTPOJISA B (hopMe KOHTPOJILHOM
paooThHI (MPAKTHYECKHE):

2.8 OOBEKTHI OLICHUBAHUS

1. YMeHue ucnonb3oBaTh IPOCMOTPOBOE, 03HAKOMHUTEIBHOE, N3yUaolIee
YTEHUE;

2. 3Hanue TCPMHHOJIOI'MY U HHTCPHAIMOHAJIBHBIX CJIOB,



w

YMmenue 00pa30BbIBaTh HOBBIE CIIOBA C MOMOIIBI0 a(PUKCOB;

4. 3HaHue 3HAUEHUS SI3BIKOBOTO Martepuana , JIE n3ydeHHsIX Mo pazaenam
«MamuHsl 1 ux pabota», «JlBUraTenn;

5. YMeHune nepeBouTh TEPMUHBI C aHTJIMHCKOTO A3bIKa HA PYCCKUHN U

Hao000pOT;

6. 3Hanue CJIOBOO6paSOBaHI/I}I, IMaCCUBHOTO 3aJI0ra YCJIIOBHBIX HpGI[J'IO)KCHI/Iﬁ

Test 1

1. Translate terms and term combinations:

Wind, force, steam, petroleum, turbine, to compress the mixture, motion, weight,
device, rate, effort, distance, part, to weigh, alternating current, direct current,
armature, electromagnet, field coil, pole, winding, brush, brushholder, commutator,
power-transmitting shaft, fan, pressure, to run on air-fuel mixture, to generate
torque, to cause friction, to decrease fuel efficiency.

2. Put these word combinations in accordance to operation of engine:

To compress the mixture, to store the fuel in the fuel tank, to mix air and the fuel,
to ignite the mixture, to pump the fuel into the carburattor, to draw the mixture into
the cylinders, to carry the fuel to the fuel pump, to push the piston down, to
produce the power.

Word formation:

3. Give nouns to the following words:

To inform, to know, to introduce, to investigate, to refer, to suggest, different,
significant, interesting

4. Give verbs to the following words:

Examination, hardness, decoration, choice.

5. Give adjectives to the following words:

To move, to use, to reduce, to compress, to differ.

6. Pay attention to the passive constructions. Translate them.

Saab cars are equipped with three-way catalytic converters.
Nitrogen oxides are formed at high combustion temperatures and pressures.
The fuel/air ratio of the mixture supplied by the engine must be controlled.
Every time an engine is started, it emits harmful substances.

W=



Test 2

1. Translate terms and term combinations:

Wind, force, steam, petroleum, turbine, to compress the mixture, motion,
weight, device, rate, effort, distance, part, to weigh, alternating current,
direct current, armature, electromagnet, field coil, pole, winding, brush,
brushholder, commutator, power-transmitting shaft, fan, pressure, to run on
air-fuel mixture, to generate torque, to cause friction, to decrease fuel
efficiency.

2. Finish sentences:

HwdE

©o~No O

Most automotive engines operate a) trough 180

This cycle comprises b) the inlet valve and the exhaust valve

The first stroke starts with the piston c) from the cylinder

The fuel mixture in the cylinder d) on the four-stroke cycle

Is compressed and ignited

The piston is pushed downwards e) is produced

The crankshaft rotates f)att.d.c.

Thus power g) by the burnt gases

The burnt gases are expelled h) by the spark plug

The flow of gases into and out i) the induction stroke, the compression
stroke, the power stroke and the exhaust
stroke

Word formation:

3. Give nouns to the following words:

To inform, to know, to introduce, to investigate, to refer, to suggest,
different, significant, interesting

4. Give verbs to the following words:

Examination, hardness, decoration, choice.

5.

Give adjectives to the following words:

To move, to use, to reduce, to compress, to differ.

6.

W

Pay attention to the passive constructions. Translate them.

Saab cars are equipped with three-way catalytic converters.
Nitrogen oxides are formed at high combustion temperatures and pressures.
The fuel/air ratio of the mixture supplied by the engine must be controlled.
Every time an engine is started, it emits harmful substances.

Test 3



1. Translate terms and term combinations:

Wind, force, steam, petroleum, turbine, to compress the mixture, motion, weight,
device, rate, effort, distance, part, to weigh, alternating current, direct current,
armature, electromagnet, field coil, pole, winding, brush, brushholder, commutator,
power-transmitting shaft, fan, pressure, to run on air-fuel mixture, to generate
torque, to cause friction, to decrease fuel efficiency.

2. Join term and its description

Machine the rate at which work is performed

Prime mover a device that uses force to accomplish something

Force Is an effort that results in motion or physical change

Work a machine whose input is natural source of energy

Power a combination of the force and the distance through which it is
exerted

Word formation:

3. Give nouns to the following words:

To inform, to know, to introduce, to investigate, to refer, to suggest,
different, significant, interesting

4. Give verbs to the following words:

Examination, hardness, decoration, choice.

5. Give adjectives to the following words:

To move, to use, to reduce, to compress, to differ.

6. Pay attention to the passive constructions. Translate them.

Saab cars are equipped with three-way catalytic converters.
Nitrogen oxides are formed at high combustion temperatures and pressures.
The fuel/air ratio of the mixture supplied by the engine must be controlled.
Every time an engine is started, it emits harmful substances.

W=
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2.9. 3aganus 1Jis NpoBeAeHNs IPOMEKYTOUYHOM aTTecTanuy B (hopMe 3ayeTa

(IpaKTHYECKHE):

2.10 OOBEKTHI OLICHUBAHUS:

1.
2.

YMeHue UCIoab30BaTh IIPOCMOTPOBOEC M U3YYAIOIICEC YTCHUC,

YMeHure BBIOJIHATh YCTHBIN MEepeBOJ] TEKCTa TPO(PECCHOHATTBHON
HaIlPaBJIEHHOCTH;

YMeHre BBINOIHATh MUCHbMEHHBIN NEPEBO/T MPEIIOAKEHHUN C PYCCKOr0 A3bIKA
Ha aHTJIMHUCKUM;

3HaHue TCPMHHOJIOTMA M HHTCPHAIIMOHAJIBHBIX CJIOB,

3HaHWE 3HAYEHUS SI3BIKOBOTO Marepuana, JIE u3ydeHHbIX MO pa3aenam
«/JIBurarenu», «Y cCTpoiiCTBO aBTOMOOHIIS»;

3HaHUe U YMEHUS YIOTPEOISATh CICIYIONINN TpaMMaTUYECKUM MaTepua:
MOPSIJIOK CJIOB B MPEJIJIOKEHUH, CIIOBOOOpa30BaHUE, TACCUBHBIN 3aJI0T,
WH(OUHUTUB, TPUYACTHUS

The 1%t variant

1.Put down the corresponding words:

Vaporize JUIMHA, JUTATSIIEHOCTh
Efficiency TOTUTUBHASI CMECh

Duration BpalieHue, 00opoT

To permit U30JIMPOBATh

Fuel mixture mETKa TeHepaTropa

Revolution JIOBOJIEHO HU3KOE HAIPSDKEHUE
To insulate UCTIAPATH(Cs1), PACTIBLIATH
Brush SIKOPb

Fairly low voltage CHA0XaTh, IIOCTABIISThH
Armature MO3BOJISATh, PA3pEIIaTh

To deliver IIPOU3BOAUTEIIBHOCTD, 3P (HEKTUBHOCTh
To increase YBEJIMYHUBATh, BO3PACTATH
Distortion nedopmMarius, HCKaKeHUe

2.Complete the sentences (orally)

...... revolves between two stationary field poles, the current in the armature

moves in one ......... during half of each revolution and in other direction during
the other half. To produce........ of unidirectional, or direct, current from such a



device, it is necessary to provide a means of reversing the current flow outside the
generator once during each revolution. In older machines this reversal is
accomplished by means of....... — a split metal ring mounted on the shaft of the
armature. The two halves of the ring are insulated from each other and serve as the
terminals of the........

Direction armature coil
An armature commutator
A steady flow

3. Put down Russian equivalents for:
Cylinder wall, efficiency, an armature, load, to insulate, operated.

4. Put the words in right order to make sentence:

1. Be, a, very, machine, can, simple.

2. An, that, is, force, results, motion, effort, in.

3. Are, diesel, now, engines, on, lorries, the, mounted.

5. Using suffixes make other words from the given below:

To produce, to compress, to ignite, to operate

6. Translate into Russian mind Passive voice:

1. This new equipment can be relied upon.

2. When was the doctor sent for?

3. Care must be taken in using electric current.

7. Translate from Russian into English:

1. HoBast Mojiesib 3TOr0 aBTOMOOMIISI OY/IET BHIMYIIEHA B CIETYIOLIEM TOY.
2. Vcnonib3yeTcst T1 HOBBIM THUII JBUTATENISI HA 9TUX aBTOMOOUJISX ?

The 2" variant

1.Put down the corresponding words:

Comparable size HarpaBJICHUE
Ratio Pa3bEMHOE METAIUIMYECKOE KOJIBIIO
To counterbalance MOHTHPOBATh, YCTAHABIMBATh



Direction
A split metal ring

KaTyllIKa sIKops
00paTHOE JBMKEHUE, XOJT

To mount COOTHOIIICHHE, KO PUITUEHT
Armature coil BBINPSIMUATEb

Reversal ypaBHOBEIINBATh

Rectifier BUTOK

Loop CHWJIa, IPOYHOCTh

Strength npuOaBIIATh, IPUCOCTUHSITH
To equip TEUCHHUE, IIOTOK

To add OCHAIIaTh, 000PYI0BAThH
Flux CONIOCTaBUMBIN, U3MEPUMBIN

2.Complete the sentences (orally)

Modern ......... use drum armatures hat usually consist of a large number of
windings set in longitudinal slits in the ........ and connected to appropriate
segments of a multiple commutator. In an armature having only one........ of wire,
the current produced will rise and fall depending on the part of the .......... through
which the loop is moving. A commutator of many segments used with a drum
armature always connects the external circuit to one loop of wire moving through
the high-intensity area of the field, and as result.......... delivered by the armature
windings is virtually constant.

Armature, DC generators, loop, magnetic field, the current.

3.Put down Russian equivalents for:
Revolution, a metal ring, terminal, voltage, constant, a magnetic field.

4. Put the words in right order to make sentence:

1. Be, a, very, machine, can, simple.

2. An, that, is, force, results, motion, effort, in.

3. Are, diesel, now, engines, on, lorries, the, mounted.

5. Using suffixes make other words from the given below:
To produce, to compress, to ignite, to operate

6. Translate into Russian mind Passive voice:

1. This new equipment can be relied upon.

2. When was the doctor sent for?



3. Care must be taken in using electric current.

7. Translate from Russian into English:

1. HoBast Mozientb 3TOr0 aBTOMOOMIISE Oy1eT BHIMYIIICHA B CIASAYIOIIEM TOY.
2. I/ICHOHBSyeTCH JI1 HOBBIN THUII ABUT'aTCJIA HA OTHUX aBTOMOOMIISAX ?

The 3" variant

1.Put down the corresponding words:

Vaporize JUTHHA, JUTATSIIEHOCTh
Efficiency TOTUTMBHASI CMECh

Duration BparieHue, 00opoT

To permit U30JIMPOBATh

Fuel mixture mETKa TeHepaTopa

Revolution JIOBOJIEHO HU3KOE HAIPSDKEHUE
To insulate UCTIAPATH(Cs1), PACTIBLISATH
Brush SKOPb

Fairly low voltage cHa0XaTh, MOCTABJIATH
Armature MI03BOJISTh, Pa3peIiaTh

To deliver IIPOU3BOAUTEIIBHOCTD, 3 (HEKTUBHOCTh
To increase YBEJIUYHUBATh, BO3PACTATh
Distortion nedopmMarius, HCKaKeHUe

2.Complete the sentences (orally)

Modern ......... use drum armatures hat usually consist of a large number of
windings set in longitudinal slits in the ........ and connected to appropriate
segments of a multiple commutator. In an armature having only one........ of wire,
the current produced will rise and fall depending on the part of the .......... through
which the loop is moving. A commutator of many segments used with a drum
armature always connects the external circuit to one loop of wire moving through
the high-intensity area of the field, and as result.......... delivered by the armature
windings is virtually constant.

Armature, DC generators, loop, magnetic field, the current.

3. Put down Russian equivalents for:

Cylinder wall, efficiency, an armature, load, to insulate, operated.



4. Put the words in right order to make sentence:

1. Be, a, very, machine, can, simple.

2. An, that, is, force, results, motion, effort, in.

3. Are, diesel, now, engines, on, lorries, the, mounted.

5. Using suffixes make other words from the given below:

To produce, to compress, to ignite, to operate

6. Translate into Russian mind Passive voice:

1. This new equipment can be relied upon.

2. When was the doctor sent for?

3. Care must be taken in using electric current.

7. Translate from Russian into English:

1. HoBast Moiesib 3TOro aBTOMOOMIISI OYIET BHIMYIIECHA B CIETYIOLIEM TO/Y.
2. Vcnonb3yeTcst 1 HOBBIM THUII JBUTATENIS HA 9TUX aBTOMOOUJISX?

3 Kypc 6 cemecTp

2.11. 3aganusa aJast NpoBeIeHUs MPOMEKYTOYHOM aTTecTanuu B hopme
auddepeHIMPOBAHHOT0 3a4eTa:

2.12 OOBEKTHI OLICHUBAHUS:

YMeHue uCroab30BaTh O3HAKOMUTEIBHOE U U3YYarOLIee YTCHUE;
3HaHuWe YacTel peun U uxX o0pa3oBaTEIbHBIX TPU3HAKOB,

W e

«OcHOBHBIC MEXaH3MBI M CUCTEMBI aBTOMOOMIIS», «CTO u TP
aBTOMOOMJIETY;

5. Pacmmpenue akTUBHOTO CJIOBaps 3a CYET PO eCcCUOHATIBHO-
OPUEHTUPOBAHHOM JIEKCUKHU;

6. 3HaHWE CHHOHUMOB, aHTOHMMOB, CJIOBOOOPa30BaHUS;

3HaHue MH(UHUTHBA, IPUIACTUI, TACCUBHOTO 3aJI0Ta.

~

YMeHue nepeBoAnTh YCTHO TEKCThI MPOoheCcCHOHATBHON HAIIPaBICHHOCTH;
3HaHME SA3BIKOBOr0 Marepuana, 3HaueHuil JIE n3yueHHBIX 1O pa3aenam:



1 variant

1. Read and translate the following groups of words. Say what parts of
speech are they.

Speed- high speed - low speed - low engine speed;
Consumption - fuel consumption - low fuel consumption;
To reciprocate - reciprocating - reciprocating motion;
Smooth - smoothly - smoothness;

To connect - connection - connecting - connecting rod.

Ok whE

2. Translate into Russian mind Participle | and Participle IlI.

=

A person taken to the hospital was his brother.
The letter written by him was very long.
3. Don’t make mistakes writing a letter.

N

3.Transform the sentences, using Infinitive:
Oo6pa3sen: He dropped his bag. | saw it. - | saw him drop his bag.

1. He slipped and fell. | saw it.
2. | heard that she suddenly cried out loudly.
3. | saw that he opened the door and left the room.

4. Pay attention to the sentences with non-finite forms of the verb (infinitive).
Translate them. (Orally)

1) The function of the gearbox is to transmit the engine power to the wheels as
efficiently as possible.

2) Saab’s four-cylinder engine allows gear ratios to be chosen for more lively
performance than is usually provided by cars with bigger engines.

3) It is designed to transmit very high power and torque, with ample margins of
safety.

5. Pay attention to the passive constructions. Translate them. (Orally)

7. Saab cars are equipped with three-way catalytic converters.
8. Nitrogen oxides are formed at high combustion temperatures and pressures.
9. The fuel/air ratio of the mixture supplied by the engine must be controlled.
10.Every time an engine is started, it emits harmful substances.



6. Open the brackets using passive voice:

1. John (to ask) to bring his guitar to the party.

2. The library never (to close) before nine o’clock.

3. This newspaper (to print) every day for twenty years.
4. Tom and Bill (not invite) to the party yet.

7. Edit the machine translation of the text. (Orally)

MOTORS
Direct current motors operate on the same principle as the direct current generator.
Voltage is supplied to the machine, which sets up a field and also sets up a current
in the rotor winding through the commutator. Just as it required mechanical power
to drive the generator winding through the field, so will the machine rotate
when fields and currents bear this same relation. As the rotor tends to react a
position where less torque is produced, the voltage supplying brush will have
passed to the next commutator segment, the force will continue and the machine
will rotate.

HampaBbTe Tekylue ABUTATENd, ONIEPUPYIOT TOT K€ CaMblid IPUHITUI KaK MPSIMON
TEKYILIUH TEHEPATOP.

HanpsikeHnue noctaBisercst Ha MallluHy (MEXaHU3M), KOTOpasi HaCTPauBaeT
(ycTanaBnuBaeT) 00sacTh (T10J1€) ¥ TaKKe HacTpauBaeT (yCTaHABIMBAET) MOTOK B
MIPOBETPUBAHUH POTOpa Yepe3 KOMMYTaTop. Takke, Kak TpeOyeTcss MeXaHrndecKas
BJIaCTh (MOIIb) BECTH (BE3TH) MPOBETPUBAHUE TEHEpPATOPaA uyepe3 001acTh (moie),
Tak OyeT MalrHa (MEXaHu3M) BpalaThCesi, KOrjaa o0aacTu (MoJjsl) ¥ MOTOKU
UMEIOT 3TO TO K€ CaMO€ OTHOIIICHHE.

[TockoJIbKY pOTOp UMEET TEHJECHIIMIO PearupoBaTh MOJIOKEHUE (TTO3UIHUSA ), TIC
MEHBIIIE Bpallalolero MoMeHTa (Kpy4eHoro opaciiera) npou3BeeHO,
HaIpsDKEHHE, MOCTaBIIstonee (CHabkaroIee) MeTKy IPOUIET K CISAYIONICH q0I1e
KOMMYTaTOpa, CUJjia MPOJIOJKUTCS, U MallliHa (MeXaHu3M) OyJeT BpamaThCs.

2 variant

1. Read and translate the following groups of words. Say what parts of speech
are they.

To rely - reliable - reliability;

Economy - economic - economical;

To combust - combustion - combustion chamber;
To use - using - usage;

Effective - effectiveness - effectively.

OO E



N

. Translate into Russian mind Participle | and Participle I1.

l_\

. While putting the flower into the vase he broke it.
She didn’t understand word said by him.
He didn’t see the things kept in her box.

w N

w

. Transform the sentences, using Infinitive:
Oopasen: He dropped his bag. I saw it. - | saw him drop his bag.

1. They turned the corner and disappeared. We watched them.
2. Pete bought some flowers. His friends saw it.
3. Shall we hear it if the telephone rings?

4. Pay attention to the sentences with non-finite forms of the verb
(infinitive). Translate them. (Orally)

1. The fifth gear ratio has been specified to ensure optimum fuel economy.

2. All unnecessary covers and connection have been eliminated, to provide
virtually perfect sealing.

rd th
3. The gear lever is spring-loaded to the 3 /4 gates and is thus automatically
centers in neutral, to ensure that the driver will never be in doubt as to the
actual position of the gear lever.

5. Pay attention to the passive constructions. Translate them. (Orally)
1. Saab cars are equipped with three-way catalytic converters.
2. Nitrogen oxides are formed at high combustion temperatures and pressures.
3. The fuel/air ratio of the mixture supplied by the engine must be controlled.

4. Every time an engine is started, it emits harmful substances.

6. Open the brackets using passive voice:

1. You (not to introduce) to Mr. Brown yet.

2. When he wanted to wear his suit, it (to dry-clean).
3. Tom(s pets (to feed) when | arrived, at his house.
4. While 1 (to introduce) to Mary, the telephone rang.

7. Read and translate the text:(orally)



COMPONENTS OF THE AUTOMOBILE

1.Basically, the automobile consists of three parts: the power plant, or the engine,
the chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.

2.The power plant or engine is the source of power that makes the wheels rotate
and the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.

3.The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.

4. The power train carries the power from the engine to the car wheels and contains

the clutch, gearbox, propeller or cardan shaft, differential and the final drive.

5. The clutch is a friction device connecting (or disconnecting) the engine
crankshaft to the gears in the gearbox. It is used for freeing the gearbox from the
engine and is controlled by the clutch pedal.

6. Brakes are important mechanisms of the car. They are used to slow or stop the
car. Most braking systems in use today are hydraulic. They are operated by the
brake pedal. When the driver pushes down on the brake pedal, they are applied and
the car stops.

3 variant

1. Read and translate the following groups of words. Say what parts of speech
are they.

To provide — providing — provider;

To move — moving — movement - movable;
To equip — equipment - equipped,;

To eliminate — eliminating — elimination;

To reduce — reducing — reduction;

RN E

2.Translate into Russian mind Participle | and Participle I1.

1. The girl reading a newspaper is our student.

2. When speaking about the new projects the lecturer showed a map.
3. They watched the ship approaching the shore.

3. Transform the sentences, using Infinitive:

Oopasen: He dropped his bag. I saw it. - | saw him drop his bag.

1. The ship sailed away from the shore. They saw it.



2. The boy noticed a bird. It flew on to the bush near the window.
3. Jane saw her neighbor. He opened the door of his flat and went in.

4. Pay attention to the sentences with non-finite forms of the verb (infinitive).
Translate them. (Orally)

1) The function of the gearbox is to transmit the engine power to the wheels as
efficiently as possible.

2) Saab’s four-cylinder engine allows gear ratios to be chosen for more lively
performance than is usually provided by cars with bigger engines.

3) It is designed to transmit very high power and torque, with ample margins of
safety.

5. Pay attention to the passive constructions. Translate them. (Orally)

1. Saab cars are equipped with three-way catalytic converters.
2. Nitrogen oxides are formed at high combustion temperatures and pressures.

3. The fuel/air ratio of the mixture supplied by the engine must be controlled.
4. Every time an engine is started, it emits harmful substances.

6. Open the brackets using passive voice:

1. John (to ask) to bring his guitar to the party.

2. The library never (to close) before nine o(clock.

3. This newspaper (to print) every day for twenty years.
4. Tom and Bill (not invite) to the party yet.

7. Read and translate the text:
THE ENGINE

1.The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.
2.The operating cycle of the four-stroke engine that takes place in the engine
cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston completes a stroke each time it changes the direction of its
motion.



3.Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.

4. Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.

5.0n the intake stroke the intake valve is opened. The mixture of air and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the residual gas.

4 variant

1. Read and translate the following groups of words. Say what parts of speech
are they.

To progress — progressing — a progress — progressed,;
To absorb — absorbing — absorbed,;

To prevent — preventing — prevented,

To equip — equipped — equipment;

To damage — damaging — a damage;

OO E

2. Translate into Russian mind Participle | and Participle I1.

1. Rivers connected by canals form long water - ways.
2. Distilled water used in the laboratory is quite tasteless.
3. A barometer is an instrument measuring atmospheric pressure.

3. Transform the sentences, using Infinitive:
Oopasen: He dropped his bag. I saw it. - | saw him drop his bag.

1. 1 saw him. He pointed to a picture on the wall.
2. We saw that the children climbed to the tops of the trees.
3. The boy noticed a bird. It flew on to the bush near the window.

4. Pay attention to the sentences with non-finite forms of the verb
(infinitive). Translate them. (Orally)

1. The fifth gear ratio has been specified to ensure optimum fuel economy.
2. All unnecessary covers and connection have been eliminated, to provide



virtually perfect sealing.

rd th
3. The gear lever is spring-loaded to the 3 /4 gates and is thus automatically
centers in neutral, to ensure that the driver will never be in doubt as to the
actual position of the gear lever.

5. Pay attention to the passive constructions. Translate them. (Orally)
1. Saab cars are equipped with three-way catalytic converters.
2. Nitrogen oxides are formed at high combustion temperatures and pressures.
3. The fuel/air ratio of the mixture supplied by the engine must be controlled.

4. Every time an engine is started, it emits harmful substances.

6. Open the brackets using passive voice:

1. You (not to introduce) to Mr. Brown yet.

2. When he wanted to wear his suit, it (to dry-clean).
3. Tom(s pets (to feed) when I arrived, at his house.
4. While I (to introduce) to Mary, the telephone rang.

7. Read and translate the text: (orally)
Automotive engines

Speaking about automotive engines one should say that the two most common
types of engine for land vehicles are the petrol engine and the diesel engine.

Since petrol engines are usually lighter and smaller than diesel engines, they are
cheaper. Therefore, most cars and motorbikes use petrol engines. Petrol engines
are less noisy than diesel engines. They usually go faster. On the other hand, diesel
engines use less fuel and last longer than petrol engines, and this is why larger
vehicles such as trucks and trains use them. They are also faster than petrol
engines, because there is less danger of fire.

There are two main types of petrol engine — 4-stroke and 2 —stroke. All cars and
larger motor-cycles use 4- stroke engines. But smaller motorbikes use 2 — stroke
engines. These are lighter and smaller than 4 — stroke engines, and are therefore
cheaper.

5 variant



1. Read and translate the following groups of words. Say what parts of speech
are they.

1. To protect — protecting — protection;

2. To locate — locating — location;

3. To inform — informing — information;

4. To include — including — inclusion;

5. To check — checking — a check;

2. Translate into Russian mind Participle I and Participle I1.
1. Coal packed closely in a badly ventilated place often takes fire.

2. The temperature used varied from 80 to 100 degrees.
3. The results received varied with the materiel used.

3. Transform the sentences, using Infinitive:
Oopasen: He dropped his bag. I saw it. - | saw him drop his bag.

1. | saw that he opened the door and left the room.
2. She dropped the cup on the floor and broke it. | saw it.
3. They turned the corner and disappeared. We watched them.

4. Pay attention to the sentences with non-finite forms of the verb (infinitive).
Translate them. (Orally)

1) The function of the gearbox is to transmit the engine power to the wheels as
efficiently as possible.

2) Saab’s four-cylinder engine allows gear ratios to be chosen for more lively
performance than is usually provided by cars with bigger engines.

3) It is designed to transmit very high power and torque, with ample margins of
safety.

5. Pay attention to the passive constructions. Translate them. (Orally)

1. Saab cars are equipped with three-way catalytic converters.

2. Nitrogen oxides are formed at high combustion temperatures and pressures.
3. The fuel/air ratio of the mixture supplied by the engine must be controlled.

4. Every time an engine is started, it emits harmful substances.



6. Open the brackets using passive voice:

1. John (to ask) to bring his guitar to the party.

2. The library never (to close) before nine o’clock.

3. This newspaper (to print) every day for twenty years.
4. Tom and Bill (not invite) to the party yet.

7. Read and translate two texts: (orally)

We know the engine to be the source of power. In some types of engines a
V-type fan belt is utilized to drive the fan, the same belt being used for driving the
generator pulley and the water pump. The engine is known to comprise the fuel,
cooling, electric and lubricating systems. It should be noted that the gasoline pump
Is operated from the camshaft by the engine called also the power plant. To guide
the car means to turn it in one direction or the other.

The clutch is known to be the part of the power train. Besides the clutch, the
power train also includes the gearbox, propeller shaft, rear axle, final drive,
differential and axle shafts. The gearbox named transmission is located between
the clutch and the propeller shaft. We know the clutch to consist of the driven plate
and the pressure plate, the driven plate having fabric linings on each side. To
connect the engine with the gearbox, the driver should engage the clutch.

4 kypc 7 cemecTp

2.13. 3amaHus 1J1st NPoBeAeHUs PYOEKHOI0 KOHTPOJIS B (hopMe KOHTPOJILHOM
padooThI (IPpAKTHYECKHE):

2.14 OOBEKTHI OLICHUBAHUS:
1. YMeHue ucroiab30BaTh U3ydaroliee, IOUCKOBOE YTCHUE;

2. 3HaHHE S3BIKOBOTO MaTepuaia, 3HaueHuii JIE, TepMuHOB, M3yUEeHHBIX 110
paznenam: «I'eHepaTopsl U AIEKTPUUECKHUE MOTOPBD, «CBapOYHBIN
porecey;

3. Pacmmpenue akTHBHOTO clioBaps 3a CYET MpodeccuoHaTbHO-

OPUEHTUPOBAHHOM JIEKCUKHU;

3HaHWEe CUHOHUMOB, aHTOHUMOB;

3HaHue UHPUHUTUBA, TEPYHIUS;

YMeHne 00pa3oBbIBaTh HOBBIE CJIOBA C MOMOIIbIO A (PUKCOB;

YMeHue nepeBoAUTh TEPMUHBI U TEPMUHOJIOTUYECKHU COUETAHMUS C

aHTJIMHACKOTO SI3bIKA HA PYCCKHUI 1 HA00OPOT.

No ok



peme

Test1
1. Translate from Russian into English:

besomacHocTh, 3ammTa,  TMOAYIIKa OE30MaCHOCTH, BOCIUIAMEHSIEMOCTD,
Hb 0€30MaCHOCTH, HECUACTHBIN CIIy4ai, CIIeTUICHHE, TEeIeX0 ], HaIeKHOCTh

TOPMO34d, CBApPKa, COCAUHATL, CBApPpKa HAI'PCBAHHUCM, CBAPKaA JIABJICHUCM.

Russ

2. Insert necessary words into sentences and translate them into
ian. Translate the words from Russian into English:

1. Crapka is a process when.......... parts are ......... together by the
application of heat. (metal, joined, )

2. JlaBneHue ......... is when the weld is achieved by........... ( pressure,
welding)

X ceapka 1s the most common........... process used today.(
welding, heat)

4. Welding is a basic mpormecc in the............ of............ (machinery,
manufacture)

5. Gas .......... 1S a non-pressure process using heat from a ....... tams.
welding, gas)

6. ABTOMOOWIb......... are almost as old as............. themselves.( accidents,

automobiles )

7. Mammunbl have many 6e3omacHocTh problems.

8. Early......... ucciaenoBanus focused on increasing the HageKHOCTH
of......... and reducing the flammability of.......... systems. (fuel, safety,
brakes )

9. TMoaymku 6e3omacuoctu and child restraint systems have been improved.

10.Many ........ now include sonar and radar......... (detectors, cars)

3. Translate sentences into Russian mind the Infinitive:

1.

The function of ignition contacts is to make and break primary ignition
circuit.

. To deal with such accurate measurements is extremely difficult.

The problem to be solved was to make the wheels lighter.



4. Translate sentences mind the word “one”, “that”:

1. This automobile complex on the Kama river is the biggest one in this country.

My brother has a blue car, and | have a red one.
This fuel equipment is more modern than that one.

The speed of a passenger — car is higher than that of a bus.

o ~ W DN

Change sentences using Gerund:

Model: When he came into the classroom he came up to me.(on) —

On coming into the classroom he came up to me.
1. You can get better results if you repeat the material. (by)

2. When he leaves the office he usually locks the door.(on)
3. Excuse me that I came so late.(for)
6. Form new words using suffixes and prefixes:
To apply, to press, to improve, to ignite
Test 2

1. Translate from Russian into English:

Ckperuienne OonTaMu, KI€NKa, W3TOTOBISATh, 000pYyAOBaHHE, Ta30CBapKa,

QJICKTPOAYIroBasd CBAapKa, KOHTAKTHAasA CBapKa, Ja3€pHasd CBapKa, 3JICKTPOHHO-

JydeBasi CBapKa, Iuiams, Kpai, HaloJHUTENb, TPOBOJIOKA.

2. Insert necessary words into sentences and translate them into Russian.
Translate the words from Russian into English:

1. The ........... to be welded and the welding....... are coated with duroc.(
rod, surfaces)

2. Arc-welding is the most important cBapouHslii ........... for joining.........(
steels, process)

3. Thistokisusedto ........ an........ arc.( create, electric )

4. As non-consumable snexrponsr......... or carbon ........... may be used.(
electrodes, tungsten)

5. Despite .......... advances there is still significant morepst of life from

aBTOMOOWJIBHBIX.......... (technological, accidents)



6. All .......... age 12 and under should exarp in the back.........( seat,

children)

7. TMogymku Oe3zomacHocTn are only designed to......... adults and may

........... children.( injure, protect)

8. Child ........... locks mpenotBpamarot children from accidentally doors from

........... inside the......... (opening, vehicle, safety)

9. To make Boxnmenue safer and .......... accidents from occurring..........

may have different active ......... features.( safety, prevent, cars)

10.......... MEeexoy ......... systems exist.( protection, active )

3. Translate sentences into Russian mind the Infinitive:

1.
2.

3.

The task of mechanics is to explain and predict physical phenomena.

The road surface to be repaired was destroyed many years ago by heavy
vehicles.

The word “transport” means to carry people or goods from place to place.

4. Translate sentences mind the word “one”, “that”:

1.

o &~ W DN
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This automobile complex on the Kama river is the biggest one in this
country.

My brother has a blue car, and | have a red one.

This fuel equipment is more modern than that one.

The speed of a passenger — car is higher than that of a bus.
Change sentences using Gerund:

Model: After school e began to attend high courses. — After school he
began attending high courses.
1. They started to make experiments in second year.

2. As he was tired he stopped to read the report and left home.

3. As I am very busy I can’t continue to attend these lectures.

. Form new words using suffixes and prefixes:

reate, to equip, to stop, to design



1.

Test 3
Translate from Russian into English:

[IpoBonoka, mpeuMyIiecTBo, TpeOOBaTh, MOBEPXHOCTh, 3aCIOHSATH,

aproHOJIyTOBasl CBapKa, YIJIEKUCIbIUA a3, )KUJIKOCTb, CIOW, COMPOTUBJIEHUE, JIUCT,

IJIABKHM, TOJTyaBTOMATUYECKUH, TTIOTPYKATh.

2.

3.

1.

Insert necessary words into sentences and translate them into Russian.
Translate the words from Russian into English:

In........... cBapka, heat is obtained from the resistance of............ to the
flow of an electrical........... (metal, current resistance)

The........ from the arc muraBut the edges of the.......... ( metal, heat)

A bare snektpon is shielded from the........ by surrounding it with argon or
carbon dioxide........... ( gas, air)

Submerged-arc welding is similar to gas-metal arc csapka.

ANEKTPOABI are ........ on each side of the parts to be........... (welded,
clamped)

Comporusnenue causes heat which...... the metals and creates the .........(
weld, melts)

Comfortable mogsecka and seating to avoid ........ from ....... fatigue.(

driver, accidents)
Large high performance mmnsr suited to the weather and road conditions.

When an mopoxHO-TpaHCHMOPTHOE MPOUCIIECTBUE 1S imminent various
passive systems work together to minimize .......... to the ....... involved.
(individuals, damage)

.......... Memexon ......... systems exist.( protection, active )
Translate sentences into Russian mind the Infinitive:

The function of ignition contacts is to make and break primary ignition
circuit.

It’s necessary for you to know all the material.

The gas to be used must be purified.



4. Translate sentences mind the word “one”, “that”:

1.

5.

This automobile complex on the Kama river is the biggest one in this
country.

My brother has a blue car, and | have a red one.
This fuel equipment is more modern than that one.

The speed of a passenger — car is higher than that of a bus.

Change sentences using Gerund:

Model: He will switch off the lights before he leaves. — He will switch off the
lights before leaving.

1

w N

6

We shall discuss this plan before we begin our work.
Before | translate this article | shall read it thoroughly.

Before he leaves he will clean his working place.

Form new words using suffixes and prefixes:

To purify, to resist, to protect, to work

2.15.
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3aganus 1Jis NpoBeaeHNs1 MPOMEKYTOUHOM aTTecTanmu B (hopMe 3ayera

(IpaKTHYECKHE):

2.16

OOBEKTHI OLICHUBAHU:
YMeHre UCIoIb30BaTh 03HAKOMUTEILHOE M H3yYal0IIIee YTCHUE,

YMeHure BBIOJIHATh YCTHBIN MOJHBIA UK (hparMeHTApHBIN NepeBO]l TEKCTA
Ipo(heCCUOHATILHON HAIIPABJIEHHOCTH;

3HaHue 3HaueHui JIE, TepMUHOB, S3BIKOBOTO MAaTEpHAIIA H3YYEHHOTO IO
pazneny «IIpou3BoACTBO COBpEMEHHBIX aBTOMOOMIIEH U aBTOMOOUIIEH
OyIymiero»; « ACreKTbl 6€30MaCHOCTH

Pacmmpenue akTHBHOTO cI0Bapst 3a CYET MPOPECCUOHATBHO-
OPUEHTUPOBAHHOM JIEKCUKH.

3HaHWEe CUHOHUMOB, aHTOHUMOB, CJIOBOOOPA30BAHMSI, MHTEPHALIMOHAIBHBIX
CJIOB



6. 3nanue c10BOOOpa30BaHMsI, [NIar0JbHBIX BPEMEH.

Test 1

1. Find English and Russian equivalents:

1.quantity a. ECTKUI ()KECTKOCTB)
2.alloy b. yrnepon

3.carbon C. pacTsDKCHUE

4 substance d. monomxka
5.tough(ness) €. KOJIMYECTBO
6.hard(ness) f. KOBKOCTB

7.ductility g. pa3psiB
8.malleability h. mpouHOCTH

9.tension I. BI3KOCTD
10.compression J. cruTaB

11.rupture K. TBepipIii (TBEPIOCTB)
12 strength |. oxatue

13.braking M. BEIIECTBO

2. Translate into Russian international words:

Metal, industry, industrial, absolutely, laboratory, steel, elastic, mechanical, result,
atom, atomic, structure, special, temperature.

3. Read and translate the text without dictionary:
METALS

1.  Mankind has used metals for centuries in gradually increasing quantities but
only now they are employed in really great quantities.

2. Today we know more than seventy metals, the majority of which are used in
industry.

3. Of all the metals iron is the most important one. Absolutely pure iron is never
prepared except for laboratory purposes. The irons and steels in use today are
really alloys of iron, carbon and other substances. They can be made elastic, tough,
hard, or comparatively soft.

4. Mechanical properties of metals are the result of their atomic structure. They
include hardness, ductility and malleability which are of special importance in
engineering.



5. Ductility is the capacity of a metal to be permanently deformed in tension
without breaking.
Malleability is the capacity of a metal to be permanently deformed by compression

without rupture.

6. These properties are similar to each other but not the same. Most metals increase
these properties at higher temperatures.

7. The strength of a metal is the property of resistance to external loads and stresses.
8. These mechanical properties are of great importance in industrial purposes
because all parts and units made of iron and steel must meet up-to-date demands.

4. Choose the right variant and finish the sentences:
1.  The most important metal in use today is....

a) carbon

b) iron

c) some other metal

2.The strength of a metal is the property....

a) to be permanently deformed in tension without breaking
b) to be permanently deformed by city of compression without rupture
C) to resist to external loads and stresses

Test 2

1. Find English and Russian equivalents:

1.mechanical engineer a. TOJITHI CPOK CITY>KOBI

2.to deal (with) b. 3amycTHTh B MaccoBO€ MPOU3BOJICTBO

3. designing cars C. ITOJIBEpraTh HCITBITAHUSIM

4. to put into mass production d. mnaBHOE clieIUIeHHE

5. long service life €. OTBEYaTh COBPEMCHHBIM TPEOOBAHUSIM
6.driving safety f. umets neno (¢ kem-n., uem-u.)

7.to meet up-to-date demands g. HaJCXKHBIE TOPMO3a H  PYJICBOE
yIpaBJIeHHUE -

8.smooth-acting clutch h. 6e3omacHOCTb €3/1bI (BOKICHH)

9.silent gearbox I. OecirymHast KopoOKa repeaay



10.dependable brakes and steering
system J. MHXKXEHEP-MEXaHHUK

11.to subject to tests K. KOHCTpyHpOBaHHE aBTOMOOHIICH
2. Translate into Russian international words:

mechanical, mechanism, specialist, industry, phase, technology, process,
laboratory, test, fact, automobile, engineer, method, principle, corrosion, type,
material, comfortable.

3. Read and translate the text without dictionary:
AUTOMOBILE PRODUCTION

1. Specialists in automobile industry deal with designing and manufacturing cars,
so they should know that the production of the automobile comprises the following
phases:

1)Designing,

2)Working out the technology of manufacturing processes,
3)Laboratory tests,

4)Road tests.

5)Mass production (manufacturing).

2. Why is it necessary to know all these facts?

It is important to know them as before the automobile (car or truck) is put into
mass production, it should be properly designed and the automobile must meet up-
to-date requirements.

3. What are these requirements?

The automobile must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.

In order to obtain all these qualities engineers should develop up-to-date methods
of designing cars, using new types of resistant to corrosion light materials. Also it
IS important to know computer science because it is intended to shorten the time
between designing and manufacturing. Computers offer quick and optimal
solutions of problems.

4. But before the car is put into mass production all its units and mechanisms are
subjected to tests, first in the plant's laboratory, then the car undergoes a rigid
quality control in road tests. Only then the car is put into mass production. Why are
these tests required? What qualities are required of the automobile? The modern
automobile must be rapid in acceleration, must have smooth acting clutch, silent



gearbox, dependable brakes and steering system, as well as pleasant appearance.
Also it must be comfortable and have all conveniences.

a. It must have high efficiency, long service life, driving safety, ease of
maintenance and pleasant appearance.

4. Choose the right variant and finish the sentences:
1. The cars are subjected to road tests in order....
a) to shorten the time between designing and manufacturing

b) to meet up-to-date requirements
c) to work out new technological processes

2.The car must have the following units....
3. The car must have the following qualities....

a) high efficiency, long service life, driving safety and pleasant appearance;
b) smooth acting clutch, silent gearbox dependable brakes and steering system.
Test 3

1. Find English and Russian equivalents:

1.lustre a. OKpy’Karomias cpeaa
2.property b. 3amumare or
3.quantity C. TTOJIBEPraThCs
4.conductivity d TuI0X 0¥ MPOBOTHUK
5.solid state ¢. KOJIMYECTBO
6.brittle f.0neck

7.undergo g. cIuiaB

8.to protect from h. cBoiicTBO
9.environment I. IPOBOJIMMOCTb
10.alloy ] TBEpI0E COCTOSTHUE
11.poor conductor K. xpymikwii
12.distinction |. npouHoCTH
13.strength M. )KECTKOCTh
14.hardness 1. pa3JInyue

2. Translate into Russian international words:



metal, metallic, electricity, electric, fact, group, rocket, construction, element,
material, corrosion, chemical, electromechanical, product, steel, organic, barrier,
industry.

3.Read and translate the text orally:

METALS AND NONMETALS

1.There are some distinctions between metals and nonmetals. Metals are
distinguished from nonmetals by their high conductivity for heat and electricity, by
metallic lustre and by their resistance to electric current. Their use in industry is
explained not only by those properties, but also by the fact that their properties,
such as strength and hardness, can be greatly improved by alloying them with other
metals.

2.There are several important groups of metals and alloys. The common metals
such as iron, copper, zinc, etc. are produced in great quantities.

3.The so-called precious metals include silver, gold, platinum and palladium. The
light metals are aluminum, beryllium and titanium. They are important in aircraft
and rocket construction.

4.Many elements are classified as semimetals (bismuth, for example) because they
have much poorer conductivity than common metals.

5.Nonmetals (carbon, silicon, sulphur) in the solid state are usually brittle materials
without metallic lustre and are usually poor conductors of electricity. Nonmetals
show greater variety of chemical properties than common metals do.

6.Metals can undergo corrosion, changing in this case their chemical and
electromechanical properties. In order to protect metals from corrosion the
products made of metals and steel are coated by some films (coatings). Organic
coatings protect metals and steel from corrosion by forming a corrosion-resistant
barrier between metal or steel and the corrosive environment.

4. Choose the right variant and finish the sentences:

There are some different groups of metals, such as:

1.Light metals:.... a) iron, copper, zinc

2.Common metals:..... b) silver, gold, platinum
3.Precious metals:... ¢) aluminum, beryllium, titanium
Nonmetals are .... a) carbon, silicon, sulphur

b) aluminum, beryllium, titanium

Test 4
1. Find English and Russian equivalents:

1.ferrous metals a. MPOBOJIUMOCTD
2.cast iron b. yriepoaucras cranb



3.carbon content C. U3HOCOCTOMKOCTD

4.alloy steel d nmpoyHOCTS.

5.carbon steel e. 00pabaTbIBaeMOCTh (Ha CTaHKE)
6.strength f. )KeCTKOCTb.

7.hardness g. ’Kele3o

8.ductility h. cruias

9.machinability I. YepHBbIC METaJLIBI
10.resistance to wear J.uyryH

11.conductivity K. coneprkanue yriepoaa
12.iron 1. KOBKOCTh

13.silicon M. JIeTHpOBaHHAs CTaNb
14.alloy N. KpeMHHUI
15.rust-resistant 0. HEP KABCIOIIUIA

2. Translate into Russian international words:

metal, element, industry, steel, material, industrial, electronic, magnetic, type,
chemical, mechanical, rocket, automobile.

3.Translate the text orally:
FERROUS METALS AND STEELS

1. Ferrous metals consist of iron combined with carbon, silicon and other elements.
But carbon is the most important element in ferrous alloys.

2. Ferrous metals are used in industry in two forms: steel and cast iron, which
differ in the quantity of carbon content.

3. Alloys consist of a simple metal combined with some other element. Steel is a

ferrous material having some carbon content. There are two kinds of steel: carbon
steel and alloy steels.

4. Carbon steel should contain only iron and carbon without any other alloying
element.

5. Alloy steels are those in which in addition to carbon an alloying element is
present. These alloying elements have an effect on the properties of steel. They
increase its strength and hardness, for example, high percentage of chromium
makes steel rust-resistant, and we call it "stainless steel".

6. Strength, ductility and machinability are the most important industrial and
commercial properties of steel. Such properties as resistance to wear, electrical

conductivity, and magnetic properties are important in special uses of metals.

7. According to their chemical and mechanical properties steels may be used in
different branches of industry, for example, in machine building, rocket
engineering, automobile industry, etc.



4. Choose the right variant and finish the sentences:
1. Alloys consist of....

a) steel and cast iron

b) iron and stainless steel

c) simple metal and some other element

2. Carbon steel contains....
3. Alloy steels include....

a) steel and cast iron
b) iron, carbon, an alloying element
¢) only iron and carbon
4. The most important properties of steel are....
a) electrical conductivity, resistance to wear, magnetic properties
b) strength, ductility, machinability
4 kypc 8 cemecTp

2.17. 3amanus 1J1st NPoBeeHUs TEKYHIero KOHTpoJs B (hopme
au(ddepeHIMPOBAHHOIO 324€TA:

2.18 OOBEKTHI OLICHUBAHUS:
1. YMeHue ucroiap30BaTh IPOCMOTPOBOE, H3yUarOIIee YTCHUE;

2. YMeHHeE BBINOTHATH YCTHBIN TOJIHBIN WA (PparMeHTapHbBINA NIEPEBOJT TEKCTA
npodeccuoHanbHOM HAMPABICHHOCTH.

3. 3unanue 3Hauenuii JIE, TepMUHOB, SI3BIKOBOT'O MaTepuaia U3y4eHHOTO IO
pazzneny: «CoBpeMeHHbIE aBTOMOOMIIbHBIE CUCTEMBIY;

4. PacmmpeHue akTHBHOTO CJIOBaps 3a CUET nmpodeccruoHaIbHO-
OPUECHTUPOBAHHOM JIEKCUKHU.

5. 3HaHMe CHHOHHMOB, aHTOHUMOB, CJIOBOOOpPA30BaHusl, HHTEPHAILIMOHATIbHBIX
CJIOB, TEPMUHOJIOTHH;

6. 3HaHUe cuCTEMBI rIarojibHbIX BpeMeH, ad(UKCanbHBIX TPU3HAKOB YaCTEH
peun.

Test 1



1. Find English and Russian equivalents:

1.body a. TOpMO3a CpabaTHIBAIOT
2.car wheels b. cuoBas mepenaya

3.power train C. TJIaBHas mepeada

4.power plant d. KosjeHuYaTHIN Bajl IBUraTCIIs
5.springs ¢. HOKMMaTh Ha Tie/1ajlb
6.steering system f. cunoBast yctaHOBKa
7.clutch g. Kojieca aBTOMOOHIIS

8.final drive h. pama ¢ ocsamu

9.engine crankshaft |. TOIIMBHAS CHCTEMaA

10.push down the pedal J. pyJieBas cucrema

11.brakes are applied K. ciierienue

12.frame with axles 1. BcmoMoraTenbHbIE YCTPOMCTBA
13.fuel system M. cucTeMa CMa3KH
14.lubricating system N. Ky30B

15.accessories 0. peccopbl

2. Translate into Russian international words:

automobile, chassis, speedometer, electric, system, cylinder, cardan, control,
hydraulic, pedal, accessories, differential.

3. Translate the text orally:
COMPONENTS OF THE AUTOMOBILE

4.Basically, the automobile consists of three parts: the power plant, or the engine,
the chassis and the body. To these may be added the accessories: the heater, lights,
radio, speedometer and other devices.

5.The power plant or engine is the source of power that makes the wheels rotate
and the car move. It includes electric, fuel, cooling and lubricating systems. Most
automobile engines have six or eight cylinders.

6.The chassis consists of a power train, frame with axles, wheels and springs. The
chassis includes brakes and steering system.

4. The power train carries the power from the engine to the car wheels and contains

the clutch, gearbox, propeller or cardan shaft, differential and the final drive.

5. The clutch is a friction device connecting (or disconnecting) the engine
crankshaft to the gears in the gearbox. It is used for freeing the gearbox from the
engine and is controlled by the clutch pedal.

6. Brakes are important mechanisms of the car. They are used to slow or stop the
car. Most braking systems in use today are hydraulic. They are operated by the



brake pedal. When the driver pushes down on the brake pedal, they are applied and
the car stops.

4. Choose the right variant and finish the sentences:

1.The mechanism used for stopping the car is....
2.The mechanism used for changing the speed is....
a) clutch

b) gearbox
c) brakes

3. The mechanism used for connecting (or disconnecting) the engine from the
gearbox is ....

a) brakes
b) clutch
C) steering system
4. The unit carrying the power from the engine to the car wheels is....
a) power plant
b) power train
C) chassis
5. The instrument measuring the speed of the car is ...
a) heater
b) lights
c) speedometer
Test 2

1. Find English and Russian equivalents:

1.internal combustion engine a. TIOPIICHb

2.combustion chamber b. BepxHsisi MepTBast TOUKa

3.stroke C. YETBIPEXTAKTHBIN JBUIATEID
4.piston d. xoneHuaTHIN Ba

5.top dead centre ¢. OTBEpPCTHE KJialmaHa

6.bottom dead centre f. ABUraTeNb BHYTPEHHETO CrOpaHHUsI

7.four-stroke cycle engine g. HYIOKHSISI MEpTBast TOUKa



8.two-cycle engine h. TorMBHAsS crcTeMa

9.crankshaft I. TAKT BOPBICKA (MONIUBA)
10.intake stroke J. IBYXTaKTHBIM JBUTATEIIb
11.valve opening K. kamepa cropaHus
12.fuel system 1. Xox, TakT (nopuirst)
13.power stroke M. BBIXJIOIN

14.exhaust N. pabo4Ymii X0 MOPIIHS

2.translate into Russian international words:
Cylinder, automobile, limit, centre, cycle, compression, gas.
3.Read the text and translate it orally:

THE ENGINE

2.The engine is the source of power that makes the car move. It is usually called an
internal combustion engine because gasoline is burned within its cylinders or
combustion chambers. Most automobile engines have six or eight cylinders.

The operating cycle of the four-stroke engine that takes place in the engine

cylinder can be divided into four strokes. The upper limit of the piston movement
is called the top dead centre. The lower limit of piston movement is called the
bottom dead centre. A stroke is the piston movement from the top dead centre to
the bottom dead centre or from bottom dead centre to the top dead centre. In other
words, the piston the completes a stroke each time it changes the direction of its
motion.

6.Where the entire cycle of events in the cylinder requires four strokes (two
crankshaft revolutions), the engine is called a four-stroke cycle engine. The four
strokes are: intake, compression, power and exhaust.

7.Two-cycle engines have also been made, and in such engines the entire cycle of
events is completed in two strokes or one revolution of the crankshaft.

8.0n the intake stroke the intake valve is opened. The mixture of air and
vaporized gasoline is delivered into the cylinder through the inlet valve. On the
compression stroke the inlet valve is closed so that the mixture can be compressed.
On the power stroke both valves (inlet and exhaust) are closed in order to raise
pressure during the mixture combustion. On the exhaust stroke the exhaust valve is
opened to exhaust the

4. Choose the right variant and finish the sentences:

1.An internal combustion engine is called so because gasoline is burned....
a) inside the combustion chamber



b) outside the combustion chamber

2. The upper limit of the piston movement is called...
3. The lower limit of the piston movement is called....

a) the bottom dead centre

b) the top dead centre

4. The four-cycle engine requires....

a) two strokes of piston movement

b) four strokes of piston movement

5. The mixture of air and gasoline is delivered into the cylinder....
a) on the power stroke

b) on the exhaust stroke

c) on the intake stroke

d) on the compression stroke

3. Yci10BUsI BBINOJIHEHUSI 3a4€THBIX 3aIaHNM:

3.1. MecTo BBINIOJIHEHHSI: KAOMHET MHOCTPAHHOTO SI3bIKa
3.2. Bpems BbINIOJIHEHUS: 45 MUHYT

3.3 KonnuecTBo BapuaHTOB 2-5

3.4 O0GopynoBaHUE: HATJISIAHBIE TOCOOMS, TaOIUIIbI
OcHOBHbIE HCTOYHUKH:

1. B.A. [llnsxoBa « AHTTIMUCKUIA SA3bIK AJI1 aBTOTPAHCIOPTHBIX
crienualibHOCTEN: YueOHoe mocodue. 5-e uza.crep. — CII6.: U3naTenscTBO
«JIanby, 2017.

2. B.A.PagoBenbs AHTIIMACKHIN S3BIK B MPOQECCHOHATBHON ACSITEILHOCTH IS

aBTOTPAHCIIOPTHBIX crelanbHocTel: yueOHoe nocooue, KHOPYC, 2019

3. TlNomunerackuii, FOpuit bopucosny ['pammaruka: COOpHUK ynpakHEHUH /
FO.Bb.T"onunpiackmii.-8-¢ u3n., ucnp. Cankr-IletrepOypr: KAPO, 2020

4. Ara6exsH W.I1. AHrnuiickuii sI3bIK AJ1s1 CCy30B: yueOHoe nocodue.- MockBa:
[Ipocnekt, 2019

I[OHO.]IHI/ITGJILHLIC HCTOYHUKH:



N.I1. ArabeksiH «AHIIIMACKUN Ui TEXHHUYECKUX By30B» PoctoB H\/I:
«®Denukcy, 2002

B.H. brames, E.IO. JlonmaToBcKkass «AHIIUUCKHUI S3bIK 1711 CTYJAEHTOB
MallIMHOCTPOUTENBHBIX cnieruanbHocTel» M.: Actpens: ACT, 2007
['nunenko A.B. AHrno-pycckuii yueOHBIN WILTIOCTPUPOBAHHBIN CIIOBAPD:
aBTOMOOMJILHBIE ¥ MAIIMHOCTPOUTEITLHBIE CTICIIHAIBHOCTH /
A.B.I'nunenko — M.: «Actpenb»: ACT, 2005.

Opinosckas U.B., Camconona JI.C., Ckyopuea A.W. YueOHuk
AHTJIMICKOTO SI3bIKA JIJIs1 CTYAEHTOB TEXHUYECKUX YHUBEPCUTETOB U
BY30B. -6-€ u3l., crepeotur. (MIHOCTpaHHBIH S3bIK B TEXHUYECKOM
yauBepcutete).-M: U3n-so MI'TY um. H.O.baymana, 2006

T.}O. IlonskoBa, E.B. Cunssckas, O.l1 TwmkoBa, 2.C. YnaHoBcKkas
«AHTTIMICKAN SI3BIK U1 MH)KEHEPOB» MocKBa, «Bpicmas mkosa»,2000

AHIIMICKUANA SI3bIK  JUIsl TIpopuiis «ABTOMOOMJIM M aBTOMOOWJIBHOE
XO03SICTBOY, I'.B.IlIeBuoBa, O.I".JIebenena, B.E. CymuHa,
C.B.PoxnectBeHckas. -M.:, «Akagemus», 2014.

JTxerin Kommuu (Jane Collin), Anekcannp Casunkwmii (Alexander

Savitskiy) Aurmno-pycckwii, Pyccko-AHrmiickuii cioBaps. —M. 2006
Mromtep B.K. IIIkonbHBIN aHTIIO-PYCCKUN PYCCKO-aHTJIMICKUAN CIIOBApb.
55 000 cnoB u Beipakenuii / B.K.Mrosiep.-M.: Dkemo, 2014
AHTTIO-pYCCKUH, pyCCKO-aHIIIMMCKHM cioBapb.-M: BAKO, 2015

3.2 Kpurepuu olleHKH

KpHTepnn OI€CHKHU MHNCbMCHHBIX 0TBCTOB

OueHkn

Kpurepuu ouenku

«5»

[IpuMeHeHre UMEIOIIEroCs] HaBbIKa MMChMa Ha aHTJIMICKOM SI3bIKE 0€3
3aTPYAHEHHUM.

Beiaenenue riaaBHOTo U3 00ILEro coepKaHus IPOYUTAHHOTO.
Pa3nenenuie NpoYNTaHHOIO HA JIOTHYECKUE YACTH.

Hcnonb3oBaHue MOy4YeHHOM MPU YTEHUU TEKCTa MHPOpMalun

«“4»

[IprMeHeHrne UMEIOIIErocsl HaBbIKA MUChMa HA aHTJIMICKOM SI3bIKE B OOIICH
Mepe

Brienenue rmaBHOro U3 00IIET0 COACPKaHUS TPOUUTAHHOTO.

Pa3znenenune npouynTaHHOTO HA JOTUYECKUE YACTH.

Hcnonp3oBaHne TONYYEHHOM TPU  YTEHWH TeKcTa HWH(opManuu s
BBITNIOJTHEHHUS HECIOKHBIX 3aJIaHUM.

«3»

HpI/IMeHCHI/Ie HaBBIKA MMChbMa HA aHTJIMHCKOM SI3bIKE IIPpH BBIITIOJITHCHUH




3aJlaHUi HU3KOTO YPOBHS CIOKHOCTH.
Brienenue riaaBHOTO U3 0011eT0 CoAepKaHus MPOUYUTAHHOTO.
Hcnonb3oBanue o01Iel MOTy4eHHON MPU YTEHUU TEKCTa UH(popMauu

«2»

Hecmoco6Hocth IMPpUMCHCHHC HABbIKA ITMCbMaA Ha AHTJINMCKOM SI3BIKE IIpu
BBIITOJIHCHUH BaﬂaHI/Iﬁ HHU3KOI'0 YPOBH:A CJIOKHOCTH.
HGYMCHI/IC BBIACIIUTD I'NIaBHOI'O U3 O6HI€FO COACPKAHUA ITPOYUTAHHOIO.
HGYMCHI/IC HCIIOJIB30BATh IIOJYYCHHYIO IIPpHM YTCHHUHU TCKCTA HH(i)OpMaHI/IIO

KpuTepun onieHKH yCTHBIX 0TBETOB

Oue | B3zaumopgeiicteue | Jlekcnueckmii | I'pammarnyeck | @oHeTHYECKOE
HKH | C co0eceHHKOM 3amnac an odopmiieHne
NPaBUJIbHOCTH peun
pedu
«5» | Ucnonp3oBanue HNmeerca Jlexcuka Bnaneer
pa3sroBOPHBIX OO0JIBIIION aJcKBaTHA OCHOBHBIMH
Kintie - CJIOBApHBIN CHUTYyallUH, IPOU3HOCUTEb-
BBIpaKEHUH.
3arac, penkue HBEIMHU U
DopMyIUPOBAHUE
TBETCTB rpaMMaTHYECKHAE | HHTOHAIIMOHHEI
BOTIPOCA COOTBETCTBYIOI | TP eCKHe OHAaI1Oo
COBECEHAKY. 15051 OIIMOKH HE MH HaBBIKAMU
OlieHUBaHUE MPEUIOKEHHON | MEIIAIOT YCTHOW peud 1
MIPOYUTAHHOTO C teme.. O0beM KOMMYHUKAIIMHU. | TEXHUKON
HACHOJIB30BAHNEM BBICKA3bIBaHUN | Y3HaBaHUE U YTEHUS.
pasrOBOPHBIX COOTBETCTBYeT | HAXOXK/ICHHC B
KJIUILIE U
. nporpaMMHbIvM | TCKCTC
BBIpaKEHUH. MIPUMEPOB
TpeOOBAHUSIM.
3 HUCIOJIL30BaHUSI
aMmeHa JTAHHOTO
HE3HAKOMOT
C3HAKOMOT'O rpaMMaTH4YeCcKOT
B
croBa O SIBJICHUSL.
CHHOHUMOM M3 | (. rapyienme
CBOETO
CBOUX ITPUMEPOB
JIEKCUYECKOTO
samnaca. HWCHOJIL30BAHUSI
HUcnonp3oBanue | AaHHOTO
podeCCHOHAIb | TPaMMaTHYSCKOT
HO- 0 MaTepuala
OpPUEHTUPOBAHH
OU JIEKCUKHU.
Brinenenne

HauboJiee




3HAYMMBIX CIJIOB
Y BBIPAXKECHUU

Pabora ¢

00LINMH U

TEPMHUHOJIOTHYE

CKHUMH

CJIOBapsIMU,

paboTa c

AIEKTPOHHBIM

cioBapém 0e3

3aTPyIHEHUN

«4» | Ucnonwp3oBanue HNmeercsa Y3HaBaHue u B nocrarouHoim
pasroBOPHBIX JIOCTaTOYHBIN HaX0XXICHUC B CTEIICHU
Kmme n CIIOBApHBIN TCKCTC BIAJIEET
BBIPAKCHUHN JIJI51 sanac, B MIPUMEPOB TeXHIKOI
COCTaBJICHUS HCIIOJIb30BAHUS
BBICKA3bIBaHUM OCHOBHOM JIAHHOTO HTCHIA 1
cpeadero ypopusi | COOTBETCTBYIOIL | rpapmMaTryeckor | OCHOBHBIMU
CJIO’KHOCTH. i O SIBJICHUSI. HPOU3HOCHUTEITh
OnenuBaHue noctasiennoin | CocraBieHue HBEIMH U
IPOYUTAHHOTO C 3ajayve. CBOMX IPUMEPOB | yHTOHAIIMOHHBI
HCITOJIb30BaHUEM 3amMeHna CPEAHCTO MH HaBBIKaMH
Ppa3roBOpPHLIX HE3HAKOMOT'O YPOBHA YCTHOH PEUH.
KJINLLIE U clIoBa CAOIHOCTH © Opnnako
5 CHHOHMMOM i3 | ACTIOJIb30BaHIEM

BBIpKECHU M JAHHOTO JOTMyCKaeT

CBOET0

HEKCHUECKOTO rpaMMaTHYCCKOr | HC3HAYNUTCIIbHbI

3AII4CA. 0 marepualia € OIINOKHU B

Hcnonbp3oBaHue IIPONU3HOLICHUN

npodeccruoHanb OTJIIEJBHBIX

HO- 3BYKOB U

OIBI/IGHTI/IPOBaHH MHTOHALWH

Ol JIEKCUKH. .

WHOSI3BIYHOU

Pab6ora ¢

OO0IIMMHU U petn

TEPMHUHOJIOTUYE

CKUMU

CJIOBapsIMU,

paboTa ¢

AIIEKTPOHHBIM

cioBapém 6e3
3aTPYyAHECHUN




3» | Ucnionp3oBanue Nwmeer [Tpumenenue B
Ppa3sroBOPHBIX OrpaHUYCHHBbI | U3YHICHHOI'O Ha HeJ0CTaTOYHOMU
Kmme n CIIOBApPHBIH TIpCABIAYIICM CTENeHH
BBIPAKECHUHN JJI5 sara, JTamne BIANeeT
MIOCTPOCHUS rpaMMaTH4YeCKOT .
BBICKa3bIBaHUM HCTIONB3YCT 0 Marepuaia TeXHIKOHN
HM3KOTO YPOBHS YIIPOLICHHBIE npu YTEHHS U
CJIOKHOCTH. JICKCHUKO- BBITIOJTHEHUH AOIIyCKacT
Hcnonb3oBaHue rpaMMaTHYEeCKH | 3aJJaHUl MHOTOYHCJICHH
MPOCTBIX ¢ CTPYKTYpbL, B | HA3KOTO YPOBHS | pre
pa3roOBOPHBIX HEKOTOPBIX CIAOIKHOCTH (dhoHeTHUeCKre
KJIMIIIC U V3HaBaHue u
BBIPAKCHUN MPU CyHaIx HaXOXXJCHHE B "

OLICHUBAHHAH HEJJOCTATOYHBIC | o0 o WHTOHAIIMOHHEI
MPOYUTAHHOTO. A MIPUMEPOB ¢ OLIMOKH, YTO
BBITIOJIHCHUS HCIOJb30BaHUA 3aTPyAHSICT
3aJaHus B AaHHOT'O IIOHUMAaHUe
npezenax rPAMMATHYECKOT | peyy,
MPEIJIOKEHHON O ABICHUAL.
TEMBI.
OO01wmue ymeHus
paboTHI ¢
OOBIYHEIMH,
3JIEKTPOHHBIMU
u
TEPMHUHOJIOTHYE
CKUMU
CJIOBapsIMH.
3ameHa
HE3HAKOMOI'0
clioBa
CUHOHUMOM M3
CBOETO
JIEKCUYECKOI'0
3amaca.
Hcnonb3oBaHue
podheCCHOHAITb
HO-
OpPUEHTUPOBAHH
OU JICKCHKU
«2» | Heymenue Cnalwbrit Hecnoco6uocTts | Peun
HCII0JIb30BaTh MIPUMEHUTH




pa3roBOpPHbIE
KJIMIIE U
BBIPKEHUS JIJIS
MOCTPOEHUS
BBICKA3bIBAaHU M
HU3KOTO YPOBHS
CJIOKHOCTH.

JIEKCUYECKUM
3amnac,
OTCYTCTBYET
Kakasg-1moo
BAPUATUBHOCTD
B €TO

HUCIIOJIb30BaHHU.

OO61mue ymeHus
paboThI ¢
OOBIYHBIMH,
DIIEKTPOHHBIMHU
"
TEPMHHOJIOTHYE
CKUMH
CJIOBApSIMH.

W3YYEHHBIN Ha
MpEAbIIYLIEM
JTarne
rpaMMaTUYECKH
W MaTepual Ipu
BBITIOJTHEHUHU
3a1aHUIN
HHU3KOTO YPOBHS
CI0KHOCTH

HeIpaBUJIbHAS,
¢ OOJIBIIINM
KOJIMYECTBOM
(hOHETUIECKUX
5
MHTOHALIMOHHBI
X OILINOOK.
HabGmronarorcs
MHOT'OYHUCJIEHH
bI€ OIIMOKH Ha
npaBuia
YTEHHUS.




